WASKIN Interiors

IPCA CODE OF PRACTICE

FEATURES UTILISATION APPLICATION
FIRE RATED / INSULATED / TOTAL SYSTEM WARRANTY WALLS / CEILINGS / ROOF  COMMERCIAL / INDUSTRIAL / ARCHITECTURAL / RESIDENTIAL

Telephone: 13000 ASKIN
Email: contact@askin.net.au

www.askin.net.au



NSW P : 024774 1255

e
PANEL
||3@@ (ERTIFICATION SCHEME

NT P08 8947 3326

A B C F G H
1 1
2 2
GENERAL NOTES
3 1. ASKIN PERFORMANCE PANELS DRAWINGS SHALL BE USED IN 6. BEFORE COMMENCING ANY WORK CONSIDERED A VARIATION, 3
CONJUNCTION WITH PROJECT SPECIFICATIONS AND ALL ASKIN AND OR ITS SITE AGENT REQUIRES THE VARIATION TO
OTHER RELEVANT TRADE DRAWINGS. BE APPROVED IN WRITING PRIOR TO COMMENCEMENT OF
| SUCH WORK. VARIATIONS INCLUDE BUT ARE NOT LIMITED TO ||
2. BY APPROVING THE ASKIN SHOP DRAWINGS, THE CLIENT/ ADDITION, DELETION OR CHANGES IN THE SCOPE OF WORKS
CONTRACTOR / ARCHITECT / DESIGNER WARRANTS THAT DESCRIBED BY THE QUOTATION / DRAWINGS.
THEY HAVE REVIEWED THE SHOP DRAWINGS, COORDINATED
4 THE SHOP DRAWINGS WITH ALL RELATED TRADES, VERIFIED 7.  DIMENSIONS TAKE PRECEDENCE OVER SCALED 4
ALL DIMENSIONS WITH ACTUAL FIELD CONDITIONS, RESOLVED MEASUREMENTS. UNIT OF MEASUREMENT ARE IN
ANY CLASHES AND REPORT ANY DISCREPANCIES BETWEEN MILLIMETERS. DO NOT SCALE OFF DRAWINGS. DETAILS AND
EACH SET OF DRAWINGS AND WITHIN EACH SET OF SECTIONS ON THE DRAWINGS ARE SHOWN AT SPECIFIC
[ DRAWINGS, CONFIRMED QUANTITIES AND PERFORMANCE LOCATIONS AND ARE INTENDED TO SHOW GENERAL ]
REQUIREMENTS AND FOR FABRICATION PROCESSES, PRIOR REQUIREMENTS THROUGHOUT.
TO THE MANUFACTURE AND INSTALLATION OF WORKS.
5 8.  DETAILS LABELED 'TYPICAL' OR 'STANDARD' ON THE 5
3. WHEN SHOP DRAWINGS ARE REQUIRED, NO PART OF THE DRAWINGS SHALL APPLY TO ALL SITUATIONS OCCURRING ON
STRUCTURE OR COMPONENT SHALL BE CONSTRUCTED THE PROJECT THAT ARE THE SAME OR SIMILAR TO THOSE
WHERE RELATED TO THE SHOP DRAWINGS UNTIL AFTER THE SPECIFICALLY DETAILED. THE APPLICABILITY OF THE DETAIL
— SHOP DRAWINGS HAVE BEEN REVIEWED AND APPROVED. IT IS TO ITS LOCATION ON THE DRAWINGS CAN BE DETERMINED BY —
THE BUILDERS RESPONSIBILITY TO PLAN AHEAD AND ALLOW THE TITLE OF THE DETAIL. SUCH DETAILS SHALL APPLY
TIME FOR SHOP DRAWING CREATION, REVIEW, REVISE AND WHETHER OR NOT THEY ARE REFERENCED AT EACH
APPROVAL. THE GENERAL CONTRACTOR AND ALL LOCATION.
6 SUBCONTRACTORS SHALL BE RESPONSIBLE FOR ANY WORK 6
NOT IN CONFORMANCE WITH THE PLANS OR IN CONFLICT 9. ALL ASKIN PANEL DIMENSIONS, LOCATIONS, HEIGHTS & SET
WITH ANY CODE. DOWNS TO BE MEASURED AND CONFIRMED ON SITE PRIOR
|| TO PANEL ORDER. 20mm MIN. CAVITY REQUIRED BETWEEN L
4. ALL CONSTRUCTION SHALL COMPLY WITH THE MOST PANEL WALLS AND ALL OTHER WALLS. VERMIN PROOFING
STRINGENT REQUIREMENTS OF ALL CURRENT APPLICABLE MAY BE REQUIRED.
CITY, COUNTRY, STATE AND FEDERAL LAWS, RULES, CODES,
7 ORDINANCES AND REGULATIONS. IF THE GENERAL 10. AMOUNT OF CEILING SUSPENSIONS AND LOCATIONS TO BE 7
CONTRACTOR OR ANY SUBCONTRACTOR PERFORMS ANY DETERMINED ON SITE SUBJECT TO STRUCTURAL STEEL,
WORK IN CONFLICT WITH THE ABOVE MENTIONED LAWS, MECHANICAL, ELECTRICAL, HYDRAULIC LAYOUTS PRIOR TO
RULES, CODES, ORDINANCES AND REGULATIONS, THEN THE PANEL ORDER. ANY CLASHES ARE TO BE RESOLVED AND
[ CONTRACTOR IN VIOLATION SHALL BEAR ALL COSTS OF DRAWINGS TO BE SIGNED OFF PRIOR TO COMMENCEMENT OF ]
REPAIR ARISING OUT OF THE NON-CONFORMING WORK. WORKS.
8 5. SUBSTITUTION OF SPECIFIC MATERIALS OR PRODUCTS 11.  DOORS, WINDOWS & CUT OPENINGS SIZES TO BE CONFIRMED 8
LISTED ON THE DRAWINGS SHALL NOT BE MADE WITHOUT WITH APPROVED SCHEDULES. SIZES TO BE CONFIRMED &
THE WRITTEN AUTHORISATION BY ASKIN PERFORMANCE ORDERED OFF SCHEDULE, NOT PLAN DRAWINGS.
PANELS ENGINEER.

9 9
10 10
A B [ C [ D [ H

TITLE: Revision Checked By Scale
A SHANNON NTS
/’/ | P C A C O P A |30.01.2018 |PAGE ADDED Drawn By Sheetsize
- - R VORWERK Ad
Issue date Revision
GENERAL NOTES 30.01.2018 A
www.askin.net.au Drawing No.
Sh  PioyaryIEE QLD P07 518960 IPCA COP - NOTES




A B T D E F g H
| Performance Panels |
1. IPCA COP - STANDARD DETAILS
2 2
100 TYPICAL PANEL TO PANEL CONNECTION DETAIL REV: - 500  TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
101 TYPICAL PANEL TO PANEL CONNECTION DETAIL REV: - 501  TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
102 TYPICAL PANEL TO PANEL CONNECTION DETAIL REV: - 502  TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
B . 503  TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A ||
200 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A 504  TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
201 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A
3 202 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A 505 TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A |3
203 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A 506 TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
204 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A 507  TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
. 508  TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
B 205 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A 509  TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A |
206 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A
207 TYPICAL WALL TO FLOOR CONNECTION DETALL REV: A 510 TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
208 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A~ 511 TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
4 209 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A" 512 TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A |4
513 TYPICAL WALL TO CEILING CONNECTION DETAIL REV: A
210 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A
| 211 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A 600 TYPICAL CEILING SUSPENSION CONNECTION DETALL ~ REV: A | |
212 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A 601  TYPICAL CEILING SUSPENSION CONNECTION DETAIL ~ REV: A
213 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A 602 TYPICAL CEILING SUSPENSION CONNECTION DETAILL ~ REV: A
214 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A" 603  TYPICAL CEILING SUSPENSION CONNECTIONDETAIL ~ REV: A
5 _ 604  TYPICAL CEILING SUSPENSION CONNECTIONDETAIL ~ REV: A |5
215 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV: A
216 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV. A 605  TYPICALCEILING SUSPENSION CONNECTIONDETAIL  REV: A
217 TYPICAL WALL TO FLOOR CONNECTION DETAIL REV. 606  TYPICAL CEILING SUSPENSION CONNECTION DETAIL ~ REV: A
B 218 TYPICAL WALL TO FLOOR CONNECTION DETAIL T 607  TYPICAL CEILING SUSPENSION CONNECTION DETAILL ~ REV: A~ 7]
REV: A 608  TYPICAL CEILING SUSPENSION CONNECTION DETAIL ~ REV: A
300 TYPICAL WALL TO WALL CONNECTION DETAIL : 609  TYPICAL CEILING SUSPENSION CONNECTION DETAIL ~ REV: -
6 301 TYPICAL WALL TO WALL CONNECTION DETAIL REV: A 6
302 TYPICAL WALL TO WALL CONNECTION DETAIL REV. A 610 TYPICALCEILING SUSPENSION CONNECTIONDETAIL ~ REV: -
303 TYPICAL WALL TO WALL CONNECTION DETAIL REV. A 611  TYPICALCEILING SUSPENSION CONNECTION DETAL ~ REV: A
304 TYPICAL WALL TO WALL CONNECTION DETAIL ' 612 TYPICAL CEILING SUSPENSION CONNECTION DETAILL ~ REV: A
— REV: A 613 TYPICAL CEILING SUSPENSION CONNECTION DETAIL ~ REV: - 1
305 TYPICAL WALL TO WALL CONNECTION DETAIL REV- A 614  TYPICAL CEILING SUSPENSION CONNECTION DETAIL ~ REV: A
306 TYPICAL WALL TO WALL CONNECTION DETAIL :
307 TYPICAL WALL TOWALL CONNECTION DETAIL REV: A 615  TYPICAL COLUMN BOXING CONNECTION DETAIL REV: A
7 308 TYPICAL WALL TOWALL CONNECTION DETAIL REV. A 616  TYPICAL COLUMN BOXING CONNECTION DETAIL REV: A |7
309 TYPICAL WALL TOWALL CONNECTION DETAIL REV: A
| | 400 TYPICAL GIRT FIXING CONNECTION DETAIL REV: - |
401 TYPICAL GIRT FIXING CONNECTION DETAIL REV: -
402 TYPICAL GIRT FIXING CONNECTION DETAIL REV: -
403 TYPICAL GIRT FIXING CONNECTION DETAIL REV: A
8 404 TYPICAL GIRT FIXING CONNECTION DETAIL REV: A 8
405 TYPICAL GIRT FIXING CONNECTION DETAIL ng :
406 TYPICAL GIRT FIXING CONNECTION DETAIL ey
B 407 TYPICAL GIRT FIXING CONNECTION DETAIL nEV m
408 TYPICAL GIRT FIXING CONNECTION DETAIL REV. A
409 TYPICAL GIRT FIXING CONNECTION DETAIL REV. A
9 410 TYPICAL GIRT FIXING CONNECTION DETAIL ' 9
10 10
A [ B [ C [ D E F G \ H
TITLE: Revision Checked By Scale
" A SHANNON NTS
/’/ AS”N |PC A COP A |30.01.2018 | GENERAL REVISION Drawn By Sheetsize
- - R VORWERK Ad
Performance Panels Issue date Revision
INDEX 21.09.2015 A
www.askin.net.au brawing No.
VIC P:0397063277 WA P: 0892494022
SA P:0882527188 QLD P:07 3718 9500 = PANEL |PCA COP = |NDEX
NSW P:0247741255 NT P:08 8947 3326 CERTIFICATION SCHEME




10

WARM SIDE

OPTIONAL WEATHER SEAL ——— " = =
POLYURETHANE SEALANT R S JOINT
REQUIRED WHEN S
EXPOSED TO WEATHER

<> [ASKNPANEL]

~ [ASKINPANEL] <>

EXTERNAL WALL AMBIENT TEMPERATURE
PANEL TO PANEL CONNECTIONS

WARM SIDE

WATERSEAL —
FOOD GRADE SEALANT
REQUIRED IN WASH

DOWN AREAS (OPTIONAL) o JoWT

ASKINSLP

<= [AskNPANEL] [

S WATERSEAL

INTERNAL WALL AMBIENT TEMPERATURE
PANEL TO PANEL CONNECTIONS

WARM SIDE

WATER SEAL
POLYURETHANE
SEALANT

e L ASKINSLIP B s e
e JOINT e
N EE  [AsKNPANEL] <

| OPTIONAL WATER SEAL

INTERNAL CEILING AMBIENT TEMPERATURE
PANEL TO PANEL CONNECTIONS

FOOD GRADE SEALANT 6
REQUIRED IN WASH
DOWN AREAS (OPTIONAL)

FOOD GRADE SEALANT
REQUIRED IN WASH
DOWN AREAS .

10

B \ c \ D

G \ H

WASKIN

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

TITLE:

IPCA COP

PANEL TO PANEL
CONNECTION DETAILS

o
4T el
\/ | || Q'&@ CERTIFICATION SCHEME

Performance Panels

Revision

Checked By Scale
A SHANNON 111

Drawn By Sheet size

R VORWERK A4

Issue date Revision

21.09.2015

Drawing No.

IPCA COP - 100




WARM SIDE

OPTIONAL WEATHER SEAL — "
POLYURETHANE SEALANT ‘
REQUIRED WHEN
EXPOSED TO WEATHER

VAPOUR SEAL
MASTIC APPLIED
ON WARM SIDE

~ [ASKNPANEL] | [ASKINPANEL] <> )

 ASKINSLIP—

~JONT

OPTIONAL WATER SEAL —— s
FOOD GRADE SEALANT ‘

REQUIRED IN WASH o (s e e e
DOWN AREAS : == ‘ 3

EXTERNAL WALL MEDIUM / LOW TEMPERATURE
B PANEL TO PANEL CONNECTIONS B

WARM SIDE 4

WATER SEAL

FOOD GRADE SEALANT
REQUIRED IN WASH i .
DOWN AREAS (OPTIONAL) e e e e
|| MASTIC APPLIED e Chl B
ON WARM SIDE ASKINSLIP S e s e

JONT———

OPTIONAL WATER SEAL ——————"
FOOD GRADE SEALANT '
REQUIRED IN WASH
DOWN AREAS

INTERNAL WALL MEDIUM / LOW TEMPERATURE
PANEL TO PANEL CONNECTIONS

WARM SIDE

OPTIONAL SEALANT -
BUTYL MASTIC TAPE

ASKIN SLIP e
80 x Tmm :

-~ JOINT

WATER SEAL e S

| POLYURETHANE e e e e S b |
SEALANT < [ASKNPANEL] |~ [ASKINPANEL] = =
VAPOUR SEAL : S e et e D

MASTIC APPLIED

ON WARM SIDE o L —— OPTIONAL WATER SEAL

FOOD GRADE SEALANT
REQUIRED IN WASH
DOWN AREAS .

INTERNAL CEILING MEDIUM / LOW TEMPERATURE 10
PANEL TO PANEL CONNECTIONS

A B \ C \ D E F G \ H

TITLE: Revision Checked By Scale

/I/ASKIN IPCA COP -
—r : R VORWERK Ad

- - - Issue date Revision
Performance Panels PANEL TO PANEL R . 21.09.2015

. - - - Drawing No.
Wé” \AL.:a[gIggéggg.auWA P 108 92494022 ;QEHS]:“EZ:EETA'LS — - g|PCA COP - 101

SA  P:0882527188 QLD P:07 3718 9500
NSW P:0247741255 NT P:08 8947 3326




1 L85

300

75 - 250mm

3532

|
1200mm

|
%y

300
- ASKIN PANEL

75 - 250mm

300

10

300
|

OPTIONAL WATER SEAL
POLYURETHANE
SEALANT

WARM SIDE

VAPOUR SEAL
MASTIC APPLIED
ON WARM SIDE

 ASKNSLP
JOINT T

|

B0

[AskiNPANEL] L

SERVICES VOID
PANEL TO PANEL CONNECTIONS

OPTIONAL WATER SEAL
POLYURETHANE
SEALANT

WARM SIDE

T\ WATER SEAL

FOOD GRADE SEALANT
REQUIRED IN WASH
DOWN AREAS (OPTIONAL)

VAPOUR SEAL
MASTIC APPLIED
ON WARM SIDE

O ASKINSLP - N
O JONT————

 [ASKINPANEL]

70.00

=g
QIS
Wl
QO\?,(()@%%

3500

SERVICES VOID
PANEL TO PANEL CONNECTIONS

T\ WATER SEAL

FOOD GRADE SEALANT
REQUIRED IN WASH
DOWN AREAS (OPTIONAL)

10

B

\ C

G \

H

TITLE:

W ASKIN IPCACOP

Performance Panels PANEL TO PANEL
CONNECTION DETAILS

i
T, ..\
\/ | || Q'&@ CERTIFICATION SCHEME

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Revision

Checked By
A SHANNON

Scale

1:1,1:5

Drawn By

R VORWERK

Sheet size

A4

Issue date

21.09.2015

Revision

Drawing No.

IPCA COP - 102




A \ B C

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
1| REQUIRED TO WASH
DOWN AREAS

WATER SEAL
POLYURETHANE
SEALANT

FIXING

2| M6 x50 DYNABOLTS

AT 600 CTRS OR

M6.5 STEEL SPIKES /
HAMMER PINS AT 400 CTRS

WATER SEAL
POLYURETHANE
SEALANT

EXTRUSION /
POWDERCOATED ALUMINIU
105 x 40 x 1.4 CHANNEL

|| VARIES WITH PANEL SIZE

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
4| REQUIRED TO WASH
DOWN AREAS

)
PANEL
NSW P:0247741255 NT P:08 8947 3326 ||?@@ (ERTIFICATION SCHEME

7 7
| FIXING L
PC SS 4mm RIVETS
AT 300 CTRS FIXING
8 EXTRUSION iCTJ ;)SO“([I“TESR'VETS 8
POWDERCOATED
ALUMINIUM 35mm EXTRUSION
RADIUS POWDERCOATED
|| FIXING ALUMINIUM 75mm
, 6 x 30 RADIUS
SHURE DRIVES FIXING
9 = AT 300 CTRS 6 x 30 SHURE DRIVES 9
‘\ OPTIONAL WATER SEA, _ AT 300 CTRS
| FOOD GRADE SEALANT OPTIONAL WATER SEAL
“ REQUIRED TO WASH FOOD GRADE SEALANT
B ; DOWN AREAS REQUIRED TO WASH
\_q/ DOWN AREAS
0 ALTERNATIVE AMBIENT TEMPERATURE 0
FLOOR DETAILS - SECTION VIEW
SCALE 1:2
A [ B [ C [ D E F [ H
TITLE: Revision Checked By Scale
A SHANNON 1:2
/’/ | P C A C O P A ]30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Issue date Revision
WALL TO FLOOR 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECTION DETAILS
SA P:0882527188 QLD P:0737189500 |NWPZ IPCA COP - 200




[ASKINPANEL] <

;

ALTERNATIVE AMBIENT TEMPERATURE
FLOOR DETAILS - SECTION VIEW

SCALE 1:2

10

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FIXING

M6 x 50 DYNABOLTS

AT 600 CTRS OR

M6.5 STEEL SPIKES /
HAMMER PINS AT 400 CTRS

EXTRUSION
POWDERCOATED ALUMINIUM
105 x 40 x 1.4 CHANNEL
VARIES WITH PANEL SIZE

WATER SEAL
POLYURETHANE
SEALANT

CONCRETE UPSTAND
BY OTHERS

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

EXTRUSION
ARROWHEAD
POWDER COATED
ALUMINIUM COVE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

CONCRETE KERB
BY OTHERS

10

A \ B \ c \

G \ H

TITLE:

Vb IPCA COP

WALL TO FLOOR
CONNECTION DETAILS

)
PANEL
”|p@@ (ERTIFICATION SCHEME

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Revision

Checked By Scale
A SHANNON

A 130.01.2018

FIXINGS & NOTES REVISED

1.2

Drawn By Sheet size

R VORWERK

A4

Issue date Revision

21.09.2015

A

Drawing No.

IPCA COP - 201




FIXING
6 x 30 SHURE DRIVES
AT 300 CTRS

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

EXTRUSION
POWDERCOATED ALUMINIUM
40 x 40 x 1.6 ANGLE

WATER SEAL
POLYURETHANE SEALANT

FIXING

M6 x 50 DYNABOLTS

AT 600 CTRS OR

M6.5 STEEL SPIKES / \

~

HAMMER PINS AT 400 CTRS

227

2227}

NSW P : 024774 1255

)
PANEL
NT P :08 8947 3326 || ?@@ (ERTIFICATION SCHEME

7 7
FIXING FIXING
PC SS 4mm RIVETS PC SS 4mm RIVETS
8 AT 300 CTRS AT 300 CTRS
EXTRUSION i e EXTRUSION
POWDERCOATED [+ it POWDERCOATED
|| ALUMINIUM 35mm [ ALUMINIUM 75mm L]
RADIUS \ RADIUS
FIXING FIXING
9 6x30 6 x 30 SHURE DRIVES 9
SHURE DRIVES AT 300 CTRS
AT 300 CTRS OPTIONAL WATER SEAL
OPTIONAL WATER SEAL FOOD GRADE SEALANT
1 FOOD GRADE SEALANT REQUIRED TO WASH
< . REQUIRED TO WASH DOWN AREAS
- DOWN AREAS
o ALTERNATIVE MEDIUM TEMPERATURE 0
FLOOR DETAILS - SECTION VIEW
SCALE 1:2
A [ B [ C [ D E F [ H
TITLE: Revision Checked By Scale
A SHANNON 1.2
/’/ | P C A C O P A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
-l - R VORWERK A4
- Issue date Revision
WALL TO FLOOR 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P:089249 4022 CONNECTION DETAILS
SA  P:0882527188 QLD P:0737189500 |P/4 IPCA COP - 202




P

10

ALTERNATIVE MEDIUM TEMPERATURE
FLOOR DETAILS - SECTION VIEW

SCALE 1:2

\

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

EXTRUSION
POWDERCOATED ALUMINIUM
40 x40 x 1.6 ANGLE

FIXING

M6 x 50 DYNABOLTS

AT 600 CTRS OR

M6.5 STEEL SPIKES /
HAMMER PINS AT 400 CTRS

WATER SEAL
POLYURETHANE
SEALANT

CONCRETE UPSTAND
BY OTHERS

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

EXTRUSION
ARROWHEAD
POWDER COATED
ALUMINIUM COVE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

CONCRETE KERB
BY OTHERS

10

A

\ c \ D

G \

H

V'

VIC  P:039706 3277
SA  P:0882527188
NSW P : 024774 1255

www.askin.net.au

WA P 089249 4022
QLD P:07 3718 9500
NT P08 8947 3326

TITLE:

IPCA COP

WALL TO FLOOR
CONNECTION DETAILS

0
PANEL
|| ;@@ (ERTIFICATION SCHEME

Revision

Checked By
A SHANNON

Scale

Drawn By

A 130.01.2018

FIXINGS & NOTES REVISED

R VORWERK

Sheet size

A4

Issue date

21.09.2015

Revision

Drawing No.

IPCA COP - 203




A B C D E F G H
NOTE: :
1| SLOT CUT INTO CORE T T 1
TO ACCEPT LOCATOR T OPTIONAL
FIN OF BASE ANGLE i WATER SEAL
PC SS 4mm RIVETS e SEALANT REQUIRED
SR e ) AREAS
2| OPTIONAL e e e EXTRUSION 2
WATER SEAL S ] U ASKINPANEL | POWDERCOATED
POLYURETHANE e L e ALUMINIUM
SEALANT S e T
|| e . : 40 x 40 x 1.6 ANGLE
VAPOUR SEAL e WATER SEAL
NON SKINNING o BOLYURETHANE
MASTIC APPLIED R SEALANT
3| TOWARM SIDE 3
WATER SEAL & %METER x 30
POLYURETHANE -
SEALANT MUSHROOM HEAD
— i SS DRIVE SCREW —
EXTRUSION BN AT 300 CTRS
POWDERCOATED B OPTIONAL
4| ALUMINIUM ol WATER SEAL 4
60 x45x 1.4 <l % S POLYURETHANE
BASE MOULD A0 €8 0 {ERNE SEALANT
OPTIONAL N\ - 7 1.
| WATER SEAL ‘. g .7, N . B
POLYURETHANE A s . C el .
SEALANT s 7 |
5| FIXING ; . IR e L, 5
M6 x 50 DYNABOLTS A T s } . cE e s
AT 600 CTRS OR ; i AT : -
| | M6.5 STEEL SPIKES / o . i a L S e a7, ||
HAMMER PINS AT 400 CTRS q ‘ S . A 2 L
2 4 a4 A s E 4
a a 74 .7 <
< a 4, 4
6 a 4 as 6
7 7
FIXING FIXING
PC SS 4mm RIVETS PC SS 4mm RIVETS
8 AT 300 CTRS AT 300 CTRS 8
EXTRUSION EXTRUSION
POWDERCOATED [ POWDERCOATED
| | ALUMINIUM 35mm |- ALUMINIUM 75mm
RADIUS & RADIUS
FIXING FIXING
6 x 30 6 x 30 SHURE DRIVES
9 SHURE DRIVES AT 300 CTRS
AT 300 CTRS
OPTIONAL WATER SEAL
OPTIONAL WATER SEAL , FOOD GRADE SEALANT
— FOOD GRADE SEALANT B 3 . REQUIRED TO WASH —
< . REQUIRED TO WASH < q S DOWN AREAS
- DOWN AREAS —_
" ALTERNATIVE MEDIUM TEMPERATURE "
FLOOR DETAILS - SECTION VIEW
SCALE 122
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
A SHANNON 1:2
/’/ |PC A COP A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Issue date Revision
WALL TO FLOOR 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”‘S
SA  P:0882527188 QLD P:07 37189500 : o @ PAREL |PCA COP - 204
NSW P:0247741255 NT P:088947 3326 ||?»c.© CERTIFICATION SCHEME




[ASKINPANEL] <~

[ASKINPANEL] <~

(ASKINPANEL] ~ -

N = AR, B
5 N A
REEREIEE D e, .
@ y 4 " B
SRR B <4
G | <
4 e 4
a S T
4 ClrliaaT s,
4 R R B
ol .
6 < ; LS .
4 + 4
4a . “ 2 .
4 s
+ " 4 <
“ 4
s D s

10

EXTERNAL LOW TEMPERATURE
ALTERNATIVE FLOOR CONNECTIONS

[ASKINPANEL] =

[ASKIN PANEL |

-~

NOTE

FOR THE FULL RANGE

~

OF EVOLVE PROFILES

& DETAILS, PLEASE

[ASKINPANEL] -

REFER TO THE ASKIN
EVOLVE BROCHURE

ST e | Sl
= Szl 4 =
<L s <L < |
Hal| ol ach a
|Z0 o E 1Z}
=y i i~ X}
1Al LAk Q1
Trbiy AA Ej ¢
A4 a
TV
‘ OO00
av < a ] 4 4 a9
4 4 < iA . a < < o 4 ad
4, < 4, 44 . a
4° B} “ N A s 4% 4 < )

INTERNAL LOW TEMPERATURE
ALTERNATIVE FLOOR CONNECTIONS

10

A \ B \ c \

H

V'

TITLE:

IPCA COP

WALL TO FLOOR

www.askin.net.au

VIC  P:039706 3277
SA  P:0882527188
NSW P : 024774 1255

WA P 089249 4022
QLD P:07 3718 9500
NT P08 8947 3326

CONNECTION DETAILS

0
PANEL
|| p@@ (ERTIFICATION SCHEME

Revision

A 130.01.2018

FIXINGS REVISED & EVOLVE DETAIL ADDED

Checked By
A SHANNON

Scale

1:10

Drawn By
R VORWERK

Sheet size

A4

Issue date

21.09.2015

Revision

A

Drawing No.

IPCA COP - 205




10

WARM SIDE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

WEATHER SEAL
POLYURETHANE SEALANT
REQUIRED WHEN
EXPOSED TO WEATHER

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

NOTE:

SLOT CUT INTO CORE
TO ACCEPT LOCATOR
FIN OF BASE ANGLE

EXTRUSION
POWDERCOATED ALUMINIUM
60 x 45 x 1.4 BASE MOULD

WEATHER SEAL
POLYURETHANE SEALANT
REQUIRED WHEN
EXPOSED TO WEATHER

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

WATER SEAL
POLYURETHANE
SEALANT

FIXING

. [ ASKINPANEL |

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

EXTRUSION
POWDERCOATED
ALUMINIUM 35mm
RADIUS

WATER SEAL
POLYURETHANE
SEALANT

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH DOWN
AREAS F.F.L

[N
N4

PVC SHEET BY CONCRETER™

CONCRETE
WEAR SLAB 2
g 4

94

2 <
PVC SHEET BY CONCRETER 4

ATIONGRADE

CONDUCTIONCUT.REMOVESKIN 0
_ TOHEIGHTOFFLOORINSULATION s B Ui e S

ICATIQN

OORINS
SUITAP)

76mm OVERIAP TAPED

T — e — — —

M6 x 50 DYNABOLTS 2
AT 600 CTRS OR

M6.5 STEEL SPIKES /
HAMMER PINS AT 400 CTRS

WALL TO FLOOR CONNECTION

DETAIL - SECTION VIEW
SCALE 13

T4

VAPOUR BARRIER

300mm WIDE POLYTHENE
MIN THICKNESS 250UM OR
BITUMEN MEMBRANE

VAPOUR BARRIER
POLYTHENE SHEET MIN
THICKNESS 250UM

VAPOUR SEAL
2 ROWS OF NON

SKINNING MASTIC

A \ B \ c

D E \ F

G \ H

SA

www.askin.net.au
VIC P:039706 3277

NSW P : 024774 1255

TITLE:

W ASKIN IPCACOP

Performance Panels

WALL TO FLOOR

WA P 089249 4022
QLD P:07 3718 9500
NT P08 8947 3326

P08 8252 7188 =
||Q'£@ CERTIFICATION SCHEME

CONNECTION DETAILS

Revision

Checked By Scale
A SHANNON

1:3

Drawn By Sheet size

A ]30.01.2018 |FIXINGS & NOTES REVISED

R VORWERK

A4

Issue date Revision

21.09.2015

A

Drawing No.

IPCA COP - 206




A B T D £ F G \ H
OPTIONAL WATER SEAL
1 FOOD GRADE SEALANT |1
REQUIRED TO WASH
DOWN AREAS
|| EXTRUSION |
ARROWHEAD
~~~~~ POWDER COATED
) ALUMINIUM COVE
FIXING
PC SS 4mm RIVETS
AT 300 CTRS
| CONCRETE KERB B
BY OTHERS
3 ——HDG STEEL
ANGLE BY OTHERS
e R : || 9
4 WARM SIDE : ASKI‘N PAN;L ] . g A
Shpss e i s B
m g
- q1m
oIS -
FIXING e e 4
5| PCSS 4mm RIVETS s | 5
AT 300 CTRS o (—/ FFL
WEATHER SEAL e - - v
— POLYURETHANE SEALANT [ 2 5 T
REQUIRED WHEN e - ‘
EXPOSED TO WEATHER et <
6| VAPOUR SEAL S 4 6
NON SKINNING MASTIC 2 CONCRETE |,
APPLIED TO WARM SIDE m . | WEARSLAB o
| | NoOTE: e ’ m
SLOT CUT INTO CORE . v 5
TO ACCEPT LOCATOR L 4 2 . 7
FIN OF BASE ANGLE S A9 PVCSHEETBY CONCRETER
7 ; _ 7
EXTRUSION e Z
POWDERCOATED ALUMINIU s
60 x 45 x 1.4 BASE MOULD z3
— WEATHER SEAL og ]
POLYURETHANE SEALANT 33
REQUIRED WHEN o 5 ‘
S e
8| EXPOSED TO WEATHER - g OOR INSULATION GRADE 8
VAPOUR SEAL oo SUITMAPPLICATIQN
NON SKINNING MASTIC 88
| | APPLIED TO WARM SIDE B2 B
WATER SEAL 35
POLYURETHANE 5 e
SEALANT SO E
9 9
FIXING
M8 x 50 DYNABOLTS ga = g
AT 600 CTRS OR g N
—  M6.5 STEEL SPIKES / v 4 a 4 ]
HAMMER PINS AT 400 CTRS 4 7, 4 g o
WALL TO ELOOR CONNECTION VAPOUR BARRIER VAPOUR BARRIER VAPOUR SEAL
10 O FLOOR CO CTIO 300mm WIDE POLYTHENE ~ POLYTHENE SHEET MIN 2ROWSOFNON |
DETAIL - SECTION VIEW MIN THICKNESS 250UM OR  THICKNESS 250UM SKINNING MASTIC
SCALE 1:3 BITUMEN MEMBRANE
A \ B \ C D E \ F G \ A
TITLE: Revision Checked By Scale
. A SHANNON 13
/’/AsmN | P CA C O P A 130.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheet size
- - R VORWERK Ad
Performance Panels Issue date Revision
WALL TO FLOOR 21.09.2015 A
www.askin.net.au brawing No.
VIC P:0397063277 WA P: 0892494022 CONN ECTlON DETA' LS
SA  P:0882527188 QLD P:07 37189500 o A ol 3 f?fﬂ PANEL |PCA COP - 207
NSW P:0247741255 NT P:088947 3326 |p~.:c. CERTIFICATION SCHEME




A B C D E F G H
1 A 1
2 2
. OPTIONAL WATER SEAL L]
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS
3 3
FIXING
PC SS 4mm RIVETS
AT 300 CTRS
B ‘ EXTRUSION N
SR e POWDERCOATED
e e g ALUMINIUM 35mm
4 WARM SIDE i ASt IN“PANE‘L e RADIUS 4
o POLYURETHANE
|| o SEALANT ||
B OPTIONAL WATER SEAL
A FOOD GRADE SEALANT
5 e REQUIRED TO WASHDOWN |,
o AREAS FFL
i v
u 4 < 4 .
4 9 . o id 4 4 7,4
4 S A 4 4 E S <
A e
6 < : % < 6
s CONCRETE
N 5 : % “ | WEAR SLAB
GROUT e 2 4 a
| | BYOTHERS ]| 7 4 |
L ‘~ = % GA
VAPOUR SEAL e,
NON SKINNING MASTIC oo 2 <
7 APPLIED TO WARM SIDE ol PVC SHEET BY COﬁCRETER 4 7
NOTE: o
SLOT CUT INTO CORE =z
[ | TOACCEPT LOCATOR =2 B
FIN OF BASE ANGLE ‘w3
EXTRUSION 22
g| POWDERCOATED ALUMINIU W 8
60 x 45 x 1.4 BASE MOULD =38 ;%J%is ATIONGRADE
VAPOUR SEAL = SUMAPPLICATION
NON SKINNING MASTIC 8P
|| APPLIED TO WARM SIDE 83 L]
WATER SEAL ‘ % g
POLYURETHANE ShelE 76mm OVERYAP TAPED
9| SEALANT y S 9
FIXING 7 E_ S
M6 x 50 DYNABOLTS 4 4 ” P
| | AT600CTRSOR N 9 B ||
M6.5 STEEL SPIKES / 9
HAMMER PINS AT 400 CTRS 4 L ., )
WALL TO FLOOR NNECTION VAPOUR BARRIER VAPOUR BARRIER VAPOUR SEAL
10 O FLOOR CONNECTIO 300mm WIDE POLYTHENE ~ POLYTHENE SHEET MIN 2ROWSOFNON |
DETAIL - SECTION VIEW MIN THICKNESS 250UM OR  THICKNESS 250UM SKINNING MASTIC
SCALE 1:3 BITUMEN MEMBRANE
A \ B [ C D E [ F G [ H
TITLE: Revision Checked By Scale
" A SHANNON 13
/’/ AsmN |PC A COP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK Ad
Performance Panels Issue date Revision
WALL TO FLOOR 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”‘S
SA  P:0882527188 QLD P:07 37189500 5 °| )f?fﬂ PANEL |PCA COP = 208
NSW P:0247741255 NT P:088947 3326 |p~.:~. CERTIFICATION SCHEME




A B C D £ F G A
1 /R 1
2 L 2
|| S OPTIONAL WATER SEAL |
E FOOD GRADE SEALANT
S REQUIRED TO WASH
e DOWN AREAS
3 e ;
- FIXING
o PC SS 4mm RIVETS
AT 300 CTRS
[ | el EXTRUSION m
bl POWDERCOATED
e A ALUMINIUM 35mm
. WARM SIDE S ‘ASKI”N‘PA‘N‘E‘L 1 RADILS )
e e WATER SEAL
e POLYURETHANE
| | e SEALANT ||
e OPTIONAL WATER SEAL
G FOOD GRADE SEALANT
5 o REQUIRED TO WASH DOWN
o AREAS FEL
|| < b f‘ e < L]
& Lt L&
[= e = a<
< L e L Pay
2 ) S ) 4
6 < a  Z e z 7 . 6
CONCRETE| , ©f S]]l CONCRETE
FIXING g G S
PC S5 4mm RIVETS WEAR S<I;AB @ = WEAR SLAB|
AT 300 CTRS ” w e H 4
|| ., w S w0 |
VAPOUR SEAL < o ke T4 N
NON SKINNING MASTIC & = ” 4
;| APPLEDTOWARMSIDE  PVC SHEET BY CONCRETER L PVC SHEETBY CONCRETER ;
NOTE: —— e
SLOT CUT INTO CORE 2 iy
TO ACCEPT LOCATOR £58
| FIN OF BASE ANGLE o ]
‘w3
EXTRUSION 23
POWDERCOATED ALUMINIUN™ my
8| 60 x45x 1.4 BASE MOULD R INS ON.G D&}_ ; 5 § - Ms ATIO GR@E 8
VAPOUR SEAL SUIT ARPLICAT] Sk SUITAPPLICATION
NON SKINNING MASTIC s
| | APPLIED TO WARM SIDE S| |
WATER SEAL : C%)% ;
POLYURETHANE 89
g| SEALANT i o
FIXING .
M6 x 50 DYNABOLTS A 4 ) 9
AT 600 CTRS OR 4 2 P
| M6.5 STEEL SPIKES / a g g 4 N
HAMMER PINS AT 400 CTRS < ) 4 . g 4
WALL TO FLOOR CONNECTION VAPOUR BARRIER VAPOUR BARRIER VAPOUR SEAL
10 300mm WIDE POLYTHENE ~ POLYTHENE SHEET MIN 2ROWS OF NON |10
DETAIL - SECTION VIEW MIN THICKNESS 250UM OR  THICKNESS 250UM SKINNING MASTIC
SCALE 1:3 BITUMEN MEMBRANE
A [ B [ C [ D E [ F G [ H
TITLE: Revision Checked By Scale
. A SHANNON 13
/’/ AsmN |PC A COP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK Ad
Performance Panels Issue date Revision
WALL TO FLOOR 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”_S
SA  P:0882527188 QLD P:07 37189500 5 ol EE PANEL |PCA COP - 209
NSW P:0247741255 NT P:088947 3326 |p~.::| CERTIFICATION SCHEME




| FIN OF BASE ANGLE

- APPLIED TO WARM SIDE

WARM SIDE FREEZER
e e OPTIONAL WATER SEAL
FOOD GRADE SEALANT

REQUIRED TO WASH
DOWN AREAS

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

EXTRUSION

POWDERCOATED
ALUMINIUM 35mm
RADIUS 4

WATER SEAL
POLYURETHANE
SEALANT L]

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH DOWN
AREAS

o [AskweaneL |

(9]

F.FL

4.4 2

A
CONCRETE|
WEAR SLAB

CONCRETE

FIXING
PC oS WEAR SLAB 4

PC SS 4mm RIVETS
AT 300 CTRS

VAPOUR SEAL a s e p B
NON SKINNING MASTIC "\ St e e . P

APPLIED TOWARM SIDE ~ PVC SHEET BY CONCRETER - N PVC SHEET BY CONCRETER ;
NOTE: Fan o

SLOT CUT INTO CORE
TO ACCEPT LOCATOR

PVC SHEET BY CONCRETER
PVC SHEET BY CONCRETER
>N

EXTRUSION

POWDERCOATED ALUMINIUM ™

60 x 45 x 1.4 BASE MOULD R INSUCATION GRADE | |

VAPOUR SEAL
NON SKINNING MASTIC

OOR INSULATION'GRADE

SUI/APPNEZATI

WATER SEAL

~ CONDUCTION CUT. REMOVE SKIN
_ TOHEIGHT OF FLOOR INSULATION

POLYURETHANE

SEALANT S : O(E/ 00 00 000 9

M6 x 50 DYNABOLTS 44 4 A |

| | AT600CTRS OR 4 smmo RUAFTAPED 4 n

M6.5 STEEL SPIKES / 4 < .

HAMMER PINS AT 400 CTRS < i 4 2 ., v 4

WALL TO FLOOR NNECTION VAPOUR BARRIER DUPLEX CABLE FLOOR VAPOUR BARRIER VAPOUR SEAL

O FLOOR CO CTIO 300mm WIDE POLYTHENE ~ HEATING SYSTEM POLYTHENE SHEET MIN 2 ROWS OF NON 10
DETAIL - SECTION VIEW MIN THICKNESS 250UM OR  WHERE SPECIFIED THICKNESS 250UM SKINNING MASTIC
SCALE 1:3 BITUMEN MEMBRANE
A [ B [ C [ D E [ F [ G [ H
TITLE: Revision Checked By Scale
" A SHANNON 1:3
/’/ AsmN | P C A C O P A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheelsize
- | - R VORWERK A4
Performance Panels M : Issue date Revision
WALL TO FLOOR L - 21.09.2015 A

www.askin.net.au - - Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”‘S N -
SA  P:0882527188 QLD P:07 3718 9500 \/ﬁ e p - - - IPCA COP -210
NSW P:0247741255 NT P:088947 3326 |p~.:c. CERTIFICATION SCHEME




A B C D E F \ G \ H
OPTIONAL WATER SEAL
1 FOOD GRADE SEALANT
REQUIRED TO WASH 1
WARM SIDE R @ S DOWN AREAS
S e EXTRUSION
— [ e e 35mm POWDER COATED ]
WEATHER SEAL T e e ALUMINIUM RADIUS
TV e S OPTIONAL WATER SEAL
POLYURETHANE e POLYURETHANE
2 SEALANT REQUIRED B eho e e SEALANT 2
WHEN EXPOSED TO B i 3 ALUMINIOM
WEATHER T mm
L TREAD PLATE
|| VAPOUR SEAL N ]
NON SKINNING MASTIC  ‘, ASKIN PANEL B
APPLIED TO WARM SIDE ST 20mm PLY BOARD
3 FIXING e s 3
PC SS 4mm RIVETS s e
AT 300 CTRS R e e
|| WEATHER SEAL S e ]
POLYURETHANE s Con L ASKINPANEL boicoo 5
SEALANT REQUIRED L g
WHEN EXPOSED TO A
4 WEATHER i 4
EXTRUSION — FIXING WATER SEAL -
40x40x16 6 x 30 SHURE DRIVES ~ POLYURETHANE
5 POWDER COATED AT 300 CTRS SEALANT s
WALL TO FLOOR CONNECTION ALUMINIUM ANGLE
DETAIL - SECTION VIEW
SCALE 1:3 OPTIONAL WATER SEAL ]
FOOD GRADE SEALANT
REQUIRED TO WASH
6 4/ DOWN AREAS 6
WARM SIDE e EXTRUSION
35mm POWDER COATED
| ALUMINIUM RADIUS B
OPTIONAL WATER SEAL OPTIONAL WATER SEAL
POLYURETHANE POLYURETHANE
SEALANT SEALANT
7 VAPOUR SEAL 3mm ALUMINIUM 7
NON SKINNING MASTIC e e TREAD PLATE
APPLIED TO WARM SIDE e n e
| FIXING S| _ASKINPANEL | 20mm PLY BOARD -
PC SS 4MM RIVETS o e , — ‘
AT 300 CTRS : S e
8 WATER SEAL 8
POLYURETHANE R
SEALANT Sl U e e P e
Sl TASKINPANEL |0 =
|| VAPOUR SEAL——— e : ||
NON SKINNING MASTIC B
APPLIED TO WARM SIDE
WATER SEAL
9 POLYURETHANE 9
SEALANT e . B
B EXTRUSION WATER SEAL B
40x40x1.6 6 x 30 SHURE DRIVES  POLYURETHANE
POWDER COATED AT 300 CTRS SEALANT
10, WALL TO FLOOR CONNECTION ALUMINIUM ANGLE 10
DETAIL - SECTION VIEW
SCALE 1:3
A [ B [ c [ D E F G [ H
TITLE: Revision Checked By Scale
n A SHANNON 13
/’/ AsmN |PC A COP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheelsize
- - R VORWERK Ad
Performan Panel Issue date Revision
eriormance Fenels - \WALL TO FLOOR 21.09.2015 A
i Drawing No.
wyméalglgigﬁggsauWA P : 08 9249 4022 CONNECT|ON DETA”'S
SA  P:0882527188 QLD P:07 3718 9500 \/" Tl e IPCA COP - 211
NSW P:0247741255 NT P:0889473326 ”p@g CERTIFICATION SCHEME




A B C D E F H
1 1
2 2
5 INTERNAL
B e OPTIONAL WATER SEAL —
S FOOD GRADE SEALANT
g REQUIRED TO WASH
S DOWN AREAS
3 S 3
S FIXING
e PC SS 4mm RIVETS
s AT 300 CTRS
s EXTRUSION
S OPTIONAL POWDERCOATED
S ALUMINIUM 35mm RADIUS OR
4 Lt SKIRT BOARD 4
b OPTIONAL WATER SEAL
: T POLYURETHANE
B s e S SEALANT —
EXTERNAL | ASKINPANEL | \ FFL
5 - ~ T L : A <7A & s , g CONCRE;"E
STRUCTURAL i 4 g 2 LOOR.
100 x 75 x 6mm STEEL 4 PR . p
B ANGLE BY OTHERS ‘ B i Y4 —
FIXING P 4 i C e
M10 x 50 DYNABOLTS “ f
6 AT 500 CTRS 6
FIXING a0, L
SERIES 500 HEX HEAD A 4 e,
|| 12x24x 38 i 5 3 ||
CLASS 3 SCREW N ° s s
STEEL PLATE ——— b
; 87 x 15 x 2 x 400 LONG a . T, .
STEEL HDG CHANNEL @ A
FLASHING 7 -
TYPICAL SILL 4 G s .
| FLASHING 2 3 —
) a 2 <
8 4 .. 8
9 4 4 4 4
|| o 4 2 4<7 a 1
4
< - 9 pal 5 ; 4 2 < ” <
5 “ 4 < “ ) 4
9 4.4 a 2 . B pal 4 < 9
< g ‘ ¢ 4 <4 <
pa) g 4 2 pa)
! a < 4 4 < < < 4 a
4 7 a4 4 2 < .
1 WALL TO FLOOR CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:2
A [ B [ C [ D E F [ H
TITLE: Revision Checked By Scale
" A SHANNON 12
/’/AsmN |PCA COP A {30.01.2018 | FIXINGS & NOTES REVISED Drawn By Sheet size
- - R VORWERK Ad
Performan Panel Issue date Revision
srermance FAnEE - WALL TO FLOOR 21.0.2015 A
i Drawing No.
w(}il\mili’aﬂglggﬁggsauWA P : 08 9249 4022 CONNECT|ON DETA”'S
SA P5088252 7188 QLD P:07 3718 9500 » oo PAREL |PCA COP - 212
NSW P:0247741255 NT P:0889473326 ||Q'£@ CERTIFICATION SCHEME




A B C E F G H
1
2
EXTERNAL e INTERNAL
WATER SEAL
POLYURETHANE e
[ SEALANT T m
FIXING ] ASKINPANEL Joo o] OPTIONAL WATER SEAL
M6 x 50 DYNABOLTS SRR e FOOD GRADE SEALANT
AT 600 CTRS OR i ‘ e REQUIRED TO WASH 5
M6.5 STEEL SPIKES / b DOWN AREAS
HAMMER PINS AT 400 CTRS S
LT FIXING
B WEATHER SEAL Lo PC SS 4mm RIVETS m
POLYURETHANE SEALANT W AT 300 CTRS
REQUIRED WHEN S
EXPOSED TO WEATHER v EXTRUSION 6
e POWDERCOATED
WATER SEAL | ALUMINIUM 35mm
POLYURETHANE RADIUS
|| SEALANT Lt \ FFL |
EXTRUSION e = h 4
POWDERCOATED e . ! < CONCRETE
ALUMINIUM 105 x 40 x el SV e ,FLOOR ;
1.4 CHANNEL WITH . 4 P e
WEEP HOLE ML e ’ 2
FLASHING NG S s
B 0.6mm COLORBOND LA % L g —
FLASHING S * s p 0y 4
4 4 2 < < ‘ 449
< 4 a ) " < < 8
7 A a B ”
A < 4 4 <
4 <7 9 pal 4
7 4 4 < 4
a <, a . 4
|| . v 4 2 » L]
9
WALL TO FLOOR CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:2
A [ B [ C [ E F G [ H
TITLE: Revision Checked By Scale
A SHANNON 12
/’/ |PC A COP A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK Ad
Issue date Revision
WALL TO FLOOR 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”'S
SA  P:0882527188 QLD P:0737189500 [N "l o IPCA COP -213
NSW P:0247741255 NT P:08 8947 3326 |?£@ CERTIFICATION SCHEME




A B C D E F G H
1 1
2 2
EXTERNAL : e g INTERNAL
WEATHER SEAL [ askweweL ] FIXING
3 POLYURETHANE SEALANT S TR T M6 x 50 DYNABOLTS 3
REQUIRED WHEN N AT 400 CTRS OR
EXPOSED TO WEATHER M6.5 STEEL SPIKES /
HAMMER PINS AT 300 CTRS
|| FIXING ||
PC SS 4mm RIVETS OPTIONAL WATER SEAL
AT 300 CTRS ZSAL\LL\JSTETHANE
4 WATER SEAL 4
POLYURETHANE FIXING
SEALANT PC SS 4mm RIVETS
s AT 300 CTRS
— EXTRUSION b —
POWDERCOATED ALUMINIUM e OPTIONAL WATER SEAL
105 x 40 x 1.4 CHANNEL S POLYURETHANE
; VARIES WITH PANEL SIZE = SEALANT 5
o BLOCK WALL
FLASHING 8
0.6mm COLORBOND D OR CONCRETE DADO
FLASHING q° .
|| J n
6 N 6
4 <
4 <
a 4 <
< ) g 4 a ., .
— 2 . < < < . [—
< ) a 2
4 < a ag ”
< B . 4
7 4 4 4 :_ —L 74 7
4 o v 4 9 4 3 5
AR R B R )
7 4 2 4
| <’| | @ 4 4, - ]
7 B | | 4
a4 P 2 1 |<7 <
’ ’ - [ T B 8
a 4 <. 4
< 4 A 4
S R
4 5 a
[ | ‘ < 4 y) j | ? < ]
< | 4 | P P sy, )
<7A a4 @ ’ | | ’ <
9 . L4 e e ?
: — V|
o WALL TO FLOOR CONNECTION 0
DETAIL - SECTION VIEW
SCALE 1:2
A [ B [ C D E F G \ H
TITLE: Revision CAhEg;:i\?\‘yNON Scale 1
2
/’/ | P C A C O P A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheet size
- - R VORWERK A4
Issue date Revision
WALL TO FLOOR 21.09.2015 A
i Drawing No.
wgv&%gl;;glérs\g;.aum P08 9249 4022 CONNECTION DETAILS
SA  P:0882527188 QLD P:0737189500 | °| D IPCA COP - 214
NSW P:0247741255 NT P:088947 3326 p&@ CERTIFICATION SCHEME




A B C D E F G H
1 1
2 2
EXTERNAL 4/ INTERNAL
WEATHER SEAL st | ASKINPANEL oo M6 x 50 DYNABOLTS
3 POLYURETHANE SEALANT Sl B AT 400 CTRS OR 3
REQUIRED WHEN e R S e M6.5 STEEL SPIKES /
EXPOSED TO WEATHER HAMMER PINS AT300 CTRS
— FIXING OPTIONAL WATER SEAL —
PC SS 4mm RIVETS POLYURETHANE
AT 300 CTRS SEALANT
4 WATER SEAL FIXING 4
POLYURETHANE PC SS 4mm RIVETS
SEALANT AT 300 CTRS
— EXTRUSION PACKER ]
POWDERCOATED ALUMINIUM 6mm PVC PACKER
105 x 40 x 1.4 CHANNEL
5 VARIES WITH PANEL SIZE %NE 5
WEEP HOLE SEALANT
- - BLOCK WALL
| FLASHING 2 7 a a <, OR CONCRETE DADO L
0.6mm COLORBOND ¢ 4 g o 4
FLASHING 2 aq . 4 N
29 a4 A9 4 B
6 < < 9 B 4 6
a 4 < 2
44 < a4 ” P
< P B 44 4 4
< 4
. 4 4 P -
a A o
a4 < 4 4 4
pal < 4
a - 4 ” . pa) <
7 e AP 7
4 a4 4 | | ? N
A 4
. [ PR 1,
|| < B 4 1
R >
4 B 4 . | | 4 a 9 3 L,
8 . R R ‘ 8
4 N 2 < 4
< B | | 4 a A’A
| | REEERRA s q |A | ’ .
“ B S R 4 a7,
< <4
“ <4 4 v | | 4
9 4 . A 9
4 2 . . 4 T | y < ‘ 9
1o WALL TO FLOOR CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:2
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
A SHANNON 1:2
/’/ | PC A CO P A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Issue date Revision
WALL TO FLOOR 21.09.2015 A
i Drawing No.
wgv%%glggégg'auvwx P : 08 9249 4022 CONNECTION DETAILS
SA  P:0882527188 QLD P:0737189500 [N °| (1 IPCA COP - 215
NSW P:0247741255 NT P:08 8947 3326 p&@ CERTIFICATION SCHEME




A B C D E F G H
1 $ 1
AMBIENT COLDROOM OPTIONAL WATER SEAL
FOOD GRADE SEALANT
) REQUIRED TO WASH )
DOWN AREAS
EXTRUSION
ARROWHEAD
[ | POWDER COATED L]
ALUMINIUM COVE
FIXING
3 PC SS 4mm RIVETS 3
AT 300 CTRS
w 150 EPOXY FLOOR FINISH
BY OTHERS
4 OPTIONAL WATER SEAL 4
_ POLYURETHANE SEALANT
VAPOUR SEAL
- NON SKINNING MASTIC n
APPLIED TO WARM SIDE | ’ .
5 POWDERCOATED e T .
ALUMINIUM 35mm RADIUS . [ ASKINPANEL 1 I8 . - . DURGAL STEEL ANGLE
i . b O = va 4‘1 .
OPTIONAL WATER N | . s 100 (L) x 150 (H) x 6mm
|| SEAL B o Eooe L FIXING
POLYURETHANE w : PR ¥ M12 DYNABOLTS
SEALANT omee AT 900 CTRS
>4 . N
e o a v
N\ S . A REERR
- 1 A 5 S C _ _ | I/ ,LLLLLLLLLLLLLLA\TLL
B R < 4 e Z - ) “* CONCRETE KERB AND SLAB. L N
e 5 ot 2O S I  STEEL TROWEL FINISH WITH
U a L e L . . * "1:100 FALL TO DOOR.
7 . . . e La 5?; “ . . N v Tas t e 7
v iy, : =2 1 . % . PVGSHEET BY CONCRETOR * .
.0 s T e . oo c z T
N 4 O
<l ; 59
|| . ; . . =T n
A T 25
‘ ‘ : B E
8 < o 4 ’ 44 ’ ~" % % 8
.. . ] 4 -8
& a . - g — == —  — — — — — — — —
| qqA«A a e . C :q B R qA B
9 GROUT FIXING VAPOUR SEAL VAPOUR BARRIER
IF REQUIRED 6 x 30 SHURE DRIVES 2 ROWS OF NON POLYTHENE SHEET MIN
VAPOUR SEAL AT 300 CTRS SKINNING MASTIC AND THICKNESS 250UM
NON SKINNING MASTIC EXTRUSION 150mm OVERLAP TAPED
] APPLIED TO WARM SIDE POWDERCOATED ALUMINIUM VAPOUR BARRIER ]
WATER SEAL 60 x 45 x 1.4 BASE MOULD 300mm WIDE POLYTHENE
POLYURETHANE SEALANT g?&?mﬁﬂi ﬁfggﬁﬂNE
10 10
WALL TO FLOOR CONNECTION
DETAIL - SECTION VIEW
SCALE 1:3
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
n A SHANNON 1:3
/’/ AsmN |PC A COP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- | - R VORWERK Ad
Performan Panel - Issue date Revision
eriormance Fenels - \WALL TO FLOOR 21.09.2015 A
i Drawing No.
wgvml{’a[]%lggﬁggiauWA P : 08 9249 4022 CONNECT|ON DETA”'S
SA P:0882527188 QLD P:0737189500 PP IPCA COP - 216

NSW P:0247741255 NT P:08 8947 3326

=
|| Q'&@ CERTIFICATION SCHEME




A B C D E F G H
1 S : 1
B AMBIENT B COLDROOM =
2| FIBRE CEMENT SHEET 2
900mm (L) x 3000mm (H)\ o
BY OTHERS N S %
| 20mmBRICK TILE ——— e —
BY OTHERS e BUMP RAIL
P OPTIONAL WATER SEAL
3 . FOOD GRADE SEALANT |3
. REQUIRED TO WASH
G L DOWN AREAS
|| e B e e EXTRUSION ||
EPOXY FLOOR FINISH e e e A ARROWHEAD
BY OTHERS XI [ ASKINPANEL |~ [ POWDER COATED
GROUT i oot en e el || ALUMINIUM COVE
4| IFREQUIRED i e e o AL FIXING 4
i o Z L L PC SS 4mm RIVETS
L § I AT 300 CTRS
|| L o R EPOXY FLOORFINISH ||
LU S LLLL BY OTHERS
L L F s
L L i | RN AR
5 LU i [ 5
L L S |1y I
Ll o :LLLLLLLLLLLLLLLLL
— \ & . % a-< 4 a° 4 g 4 -
< 3 B 3 E - 4
<2 a . 3 e, 9 5
4 . e S . CONCRETEKERBAND
8 o a4 S 8 SLAB.STEELTROWEL *  ° 6
S a oy, o ld% .“  FINISHWITH 1:100 FALL .
R T TO DOOR. o
< “ S N | a4 4
| 4 4, RIS 5 ’ N < -
. 4 4 a h g a Aq ” }
& - S |fl “PVC SHEET.BY CONCRETOR * 4
‘ 4g 4 é 5 *4‘ 4 b
7 . 4 o E I 7
<4 8 t?) ;
4 g 4 4 -
< w =
o oo
< o O -
B 1 = O
4.4 4 X 8 i !
-3
8| - ) 5 8
< ¢ a 50
4 : Se
) P o —- k - S S
. < JL . 4da 2 . " A<7 P J
g a Ag 2 < < a qA " ” <
pal < 4 4
9 “ \ 2 T, < N 4 . 9
VAPOUR SEAL 9 FIXING VAPOUR BARRIER VAPOUR SEAL
NON SKINNING MASTIC 6 x 30 SHURE DRIVES 300mm WIDE POLYTHENE 2 ROWS OF NON
APPLIED TO WARM SIDE AT 300 CTRS MIN THICKNESS 250UM SKINNING MASTIC AND
— WATER SEAL EXTRUSION OR BITUMEN MEMBRANE 150mm OVERLAP TAPED ]
POLYURETHANE SEALANT POWDERCOATED ALUMINIUM VAPOUR BARRIER
60 x 45 x 1.4 BASE MOULD POLYTHENE SHEET MIN
w0 WALL TO FLOOR CONNECTION THICKNESS 250UM 10
DETAIL - SECTION VIEW
SCALE 1:2
A [ B [ C [ D E F G [ H
TITLE: Revision (j:sgl;_eldA Er:i/NON Scale '
/’/ Asme |PC A COP A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheet size :
: : R VORWERK A4
Performance Panels Issue date Revision
WALL TO FLOOR 21.09.2015 A
i Drawing No.
wgvml{’a(]%lggﬁggiauWA P : 08 9249 4022 CONNECTION DETA”‘S
SA P : 08 8252 7188 QLD P: 07 3718 9500 ° =l PANEL |PCA COP = 21 7
NSW P:0247741255 NT P:08 8947 3326 ”pff;@ CERTIFICATION SCHEME




A B C D E F G H
1
2
I Iy I
\ \
\ \
\ \
\ \
\ \
| STRUCTURAL | 4
| MEMBER BY OTHERS |
| | | ||
\ \
\ \
\ \ S
\ \
|| | | n
\ \
\ \ FFL
\ \ \ 4 6
9 4 a4 <
a " 7,4 5 ‘ ‘ | 7 a4 4 ag ”
a A4 4 ” 4 49 ”
‘ . _— | . : ‘]
B ~ "4 [CONCRETE SLAB |- \ ' ° % [CONCRETESLA,] , - B
< a 4 a 4 4
) y < J ‘ ‘ |i . 4 P . .
PVC'SHEETBY CONCRETER r= \ | — PV SHEET BY CONCRETER 4 7
O O O O O
O O O O O
| O O O O O ||
LOOR INSUFATIONGRA Py by P b PP Pyl OORNSU/ATION'GRA
Aﬁ%%;\%ﬁ’f@\% ADE | | || || SPOTTED GUM OR TALLOW WOOD R %s{%ﬁ:&\;\% 0E]
| | || || VERTICAL GRAIN TO SUIT APPLICATION R g
[ ] \ \ [ 1]
[ ] \ \ [ 1]
L]
< o : © VAPOURBARRIER ’ ‘
VAPOUR SEAL VAPOUR BARRIER WMEPOLYTHENE 9
2ROWSOFNON  POLYTHENE SHEET MIN MIN THICKNESS 250UM OR
SKINNING MASTIC ~ THICKNESS 250UM BITUMEN MEMBRANE
TALLOW WOOD CONNECTION 0
DETAIL - SECTION VIEW
SCALE 15
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
A SHANNON 1:5
/’/ | PCA CO P Drawn By Sheet size
R VORWERK Ad
Issue date Revision
WALL TO FLOOR 21.09.2015
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CON N ECTlON DETA' LS
SA  P:0882527188 QLD P:07 37189500 4T @ PANEL |PCA COP = 218
NSW P:0247741255 NT P:088947 3326 ”|?S—.@ CERTIFICATION SCHEME




A B C D E F G H
1 1
FLASHING FLASHING
40x40x0.6 40x40x0.6
[ PRE-PAINTED PRE-PAINTED ]
STEEL ANGLE STEEL ANGLE
FIXING WATER SEAL
2 PC SS 4mm RIVETS FOOD GRADE SEALANT 2
AT 300 CTRS REQUIRED TO WASH
OPTIONAL WATER SEAL DOWN AREAS
| | FOOD GRADE SEALANT FIXING -
REQUIRED TO WASH PC SS 4mm RIVETS
DOWN AREAS AT 300 CTRS
3 OPTIONAL WATER SEAL 3
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS
B FLASHING won // FLASHING B
35x35x0.6 40x40x0.6
PRE-PAINTED STEEL , : PRE-PAINTED
5 COVE ANGLE o STEEL RADIUS 5
FIXING e FIXING
PC SS 4mm RIVETS : PC SS 4mm RIVETS
— AT 300 CTRS AT 300 CTRS —
OPTIONAL WATER SEAL OPTIONAL WATER SEAL
FOOD GRADE SEALANT FOOD GRADE SEALANT
6 REQUIRED TO WASH REQUIRED TO WASH 6
DOWN AREAS DOWN AREAS
7 7
[ | FIXING FIXING N
PC SS 4mm RIVETS PC SS 4mm RIVETS
8 AT 300 CTRS AT 300 CTRS 8
FLASHING FLASHING
40x40x0.6 30x30x0.6
PRE-PAINTED PRE-PAINTED
| STEEL ANGLE STEEL ANGLE ]
EXTRUSION EXTRUSION
35mm POWDER COATED POWDERCOATED
9 ALUMINIUM RADIUS ALUMINIUM 2 PART 9
HIDDEN FIX RADIUS
OPTIONAL WATER SEAL
FOOD GRADE SEALANT OPTIONAL WATER SEAL
REQUIRED TO WASH FOOD GRADE SEALANT
— DOWN AREAS REQUIRED TO WASH ]
DOWN AREAS
" ALTERNATIVE INTERNAL "
CORNICES - PLAN VIEW
SCALE 1:2
A \ B \ C \ D E F G \ H
TITLE: Revision Checked By Scale
A SHANNON 1:2
/’/ | P C A C O P A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Issue date Revision
WALL TO WALL 21.09.2015 A
i Drawing No.
wgv%%l;;gégg'aum P : 08 9249 4022 CONNECTION DETAILS
SA  P:0882527188 QLD P:07 3718 9500 TRV puc IPCA COP - 300
NSW P:0247741255 NT P:088947 3326 “@S_@ CERTIFCATION SCHEME




| CURVED ANGLE

50 x 50 x 0.6
PRE-PAINTED STEEL

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

WEATHER SEAL
POLYURETHANE SEALANT
REQUIRED WHEN
EXPOSED TO WEATHER

SCALE 1:2

ALTERNATIVE BUILDING EXTERNAL CORNICES
EXPOSED TO WEATHER - PLAN VIEW

A B C E F G H
1
WEATHER SEAL
POLYURETHANE SEALANT 2
REQUIRED WHEN WEATHER SEAL
EXPOSED TO WEATHER POLYURETHANE SEALANT
REQUIRED WHEN
|  FLASHING -
1506 EXPOSED TO WEATHER
PRE-PAINTED EXTERNAL FLASHING
STEEL ANGLE 50 x 50 C/B ANGLE WITH SF 3
VAPOUR SEAL SUPPORT FLASHING
NON SKINNING MASTIC 30 x 30 Z/A ANGLE
| | APPLIED TO WARM SIDE FIXING = N
FIXING PC SS 4mm RIVETS :
PC SS 4mm RIVETS AT 300 CTRS N
AT 300 CTRS FIXING — \
WEATHER SEAL DOUBLE SIDED TAPE
POLYURETHANE SEALANT WEATHER SEAL
REQUIRED WHEN POLYURETHANE SEALANT
| EXPOSED TO WEATHER REQUIRED WHEN —
EXPOSED TO WEATHER
5
|| WEATHER SEAL n
POLYURETHANE SEALANT
REQUIRED WHEN
EXPOSED TO WEATHER .
FLASHING CRANKED CORNER

10

A \ B

\ c \

H

V'

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

TITLE:

IPCA COP

WALL TO WALL
CONNECTION DETAILS

0
PANEL
] || ?@@ (ERTIFICATION SCHEME

Revision

A ]30.01.2018 |FIXINGS & NOTES REVISED

Checked By
A SHANNON

Scale

1.2

Drawn By
R VORWERK

Sheet size

A4

Issue date

21.09.2015

Revision

A

Drawing No.

IPCA COP - 301




A \ B \ C D E F H
WARM SIDE _
1 FLASHING e > 1
40x40x0.6 =
PRE-PAINTED o = 2
STEEL ANGLE Sl £
VAPOUR SEAL N
NON SKINNING MASTIC S
APPLIED TO WARM SIDE i
2 e \ 2
FIXING Tl
PC SS 4mm RIVETS Iz Z %e
AT 300 CTRS « EZE T PRE-PAINTED
B OPTIONAL WATER SEAL “E STEEL ANGLE ]
POLYURETHANE SEALANT g : xOPTIONAL WATER SEAL
, CeeTTIL FOOD GRADE SEALANT ;
SR REQUIRED TO WASH
MITRE JOINT ‘ s DOWN AREAS
50mm PANEL ONLY V
|| SCALE 1:2 50mm ONLY L]
TATER SE
WATER SEAL WARM SIDE
4 POLYURETHANE ; B 4
SEALANT B S e e
FLASHING _— ¥ D et
— 70x40x 0.6 copeeoe | ASKINPANEL oo LB -
PRE-PAINTED e e S e £
STEEL ANGLE [
5 VAPOUR SEAL e i 5
NON SKINNING T
MASTIC APPLIED S
|| TO WARM SIDE Ity \FLASHWG B
FIXING T e 40x40x06
PC SS 4mm RIVETS g PRE-PAINTED
6 AT 300 CTRS g STEEL ANGLE 5
OPTIONAL Lz OPTIONAL WATER SEAL
WATER SEAL Sk Bl FOOD GRADE SEALANT
POLYURETHANE el REQUIRED TO WASH
B SEALANT B DOWN AREAS |
BUTT JOINT \[\
7 50mm PANEL ONLY Somm ONLY 7
SCALE 1:2 | SommONLY |
CONTINUATION WARN SDE
= OF PANEL SKIN \ L
FLASHING ————— I : ‘
40x40x0.6 e Coll .
VAPOUR SEAL B e e
|| NON SKINNING e W : ||
MASTIC APPLIED A |
TO WARM SIDE T
9 FIXING 9
PC SS 4mm RIVETS A \FLASHING
AT 300 CTRS : o= 40x40x06
OPTIONAL S| PRE-PAINTED
= ST 12 STEEL ANGLE |
WATER SEAL e ~__
POLYURETHANE IS OPTIONAL WATER SEAL
ool FOOD GRADE SEALANT
10 REBATE JOINT 5441 il REQUIRED TO WASH 0
50mm PANEL ONLY ‘ e DOWN AREAS
SCALE 1:2 sommONLY
A \ B \ C \ D E F \ H
TITLE: Revision Checked By Scale
o A SHANNON 12
/’/ AsmN |PC A COP A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheet size
: - R VORWERK A4
Performan Panel Issue date Revision
errormance FAnes - \WALL TO WALL 21092015 A
i Drawing No.
wgvmiljaﬂglggﬁggiauWA P : 08 9249 4022 CONNECT|ON DETA”‘S
SA  P:0882527188 QLD P:07 3718 9500 IPCA COP - 302

o
e ] Pl
| || Q'&@ CERTIFICATION SCHEME

NSW P:0247741255 NT P:08 8947 3326




A B C D E F G H
1 1
2 2
3 OPTIONAL WATER SEAL 3
POLYURETHANE SEALANT
FLASHING WARM SIDE
|| 40x40x06 ||
PRE-PAINTED
STEEL ANGLE
A VAPOUR SEAL .
NON SKINNING MASTIC
APPLIED TO WARM SIDE
FIXING : : ~
1 PC SS 4mm RIVETS o L B e e R e e —
AT 300 CTRS e e e W
[ ASKINPANEL | >
OPTIONAL WATER SEAL S e e R
5 POLYURETHANE SEALANT S s 5
6 \ 6
e e FLASHING
T R 40x40x0.6
—| [ ASKIN PANEL L PRE-PAINTED —
S e STEEL ANGLE
e FIXING
7 e PC SS 4mm RIVETS 7
s i e AT 300 CTRS
B e OPTIONAL WATER SEAL
|| O IR FOOD GRADE SEALANT n
St REQUIRED TO WASH
i J\ S DOWN AREAS
8 ‘ 8
| AMBIENT / COLDROOM |
9 9
WALL TO WALL CONNECTION
10,  DETAIL - PLAN VIEW 10
SCALE 122
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
A SHANNON 1:2
/’/ |PC A COP A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Issue date Revision
WALL TO WALL 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECTION DETA”‘S
SA  P:0882527188 QLD P:07 37189500 rl @ PANEL |PCA COP = 303
NSW P:0247741255 NT P:088947 3326 p&@ CERTIFICATION SCHEME




° [ ASKNPANEL | E

WARM SIDE

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

[ ASKNPANEL |

; - @ s

WALL TO WALL CONNECTION

10, DETAIL - PLAN VIEW
SCALE 1:2

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FLASHING
103x40x0.6
PRE-PAINTED STEEL
CHANNEL WITH
SAFETY EDGE

AMBIENT

10

A \ B \ c \

H

TITLE:

W ASKIN IPCACOP

Pe.rformance Panels WALL TO WALL
wyméat]glgigsggsauWA P : 08 9249 4022 CONNECT|ON DETA”—S

SA  P:0882527188 QLD P:07 3718 9500 T, ..
NSW P:0247741255 NT P:088947 3326 \/ ]Ipf\g@ CERTIFICATION SCHEME

Revision

A 130.01.2018

FIXINGS & NOTES REVISED

Checked By Scale

A SHANNON 1:2
Drawn By Sheet size

R VORWERK A4
Issue date Revision

21.09.2015

A

Drawing No.

IPCA COP - 304




A B C E F H
1 1
S/ —
— < 4 a s —
< g a4
< 4 ’ s © “ o a
2 4 P y . 4 L4 2
<4 a A < ) < ’
< 4 ¢ a4 a
|| ; P -
S e WARM SIDE
< 2 L9 4 qA <7 ”
3 . R ’ VAPOUR SEAL 3
. 4 ; NON SKINNING MASTIC
: q 4 4, APPLIED TO WARM SIDE
— o et FIXING -
4 L e ° 4 6 DIAMETER x 30
; a T SHURE DRIVES
e Ta AT 300 CTRS
4 < . 4
’ a4 a7 " <
< : 4 2
< a
. [CONCRETE PANEL]* :
° R . [ASKNPANEL | L 5
- < 2 < “ qA Aq —
4
o Lo
. | . e
6 4 . P . ’ 6
< qA a 4 a
k4]
|| <4 < ’ ¢ < ‘ [
2 . 9
a A a 14 v
N @ L 2 OPTIONAL WATER SEAL
, s st . 3 POLYURETHANE SEALANT ;
- KRR FIXING
“ P . PC SS 4mm RIVETS
2 a7 L ‘ AT 300 CTRS
= R VPR FLASHING B
‘ < “a 103x40x0.6
s 4 <, . M PRE-PAINTED
8 i 4q 4 o STEEL CHANNEL 8
b L . WITH SAFETY EDGE
© B o
. PR 4, .
| . RPN AMBIENT B
a a2 . 4 .
e
9 9
WALL TO WALL CONNECTION
10|  DETAIL - PLAN VIEW 10
SCALE 1:2
A [ B [ C [ E F [ H
TITLE: Revision Checked By Scale
™ A SHANNON 1.2
/’/ AsmN |P C A C OP A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Performance Panels Issue date Revision
WALL TO WALL 21.09.2015 A
i Drawing No.
wgl\mllaaﬂglggsgsgauWA P : 08 9249 4022 CONNECT|ON DETA”‘S
SA P:0882527188 QLD P:0737189500 |G IPCA COP - 305

NSW P:0247741255 NT P08 8947 3326

=
|| Q'&@ CERTIFICATION SCHEME




WARM SIDE

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS
FLASHING

40x40x0.6
PRE-PAINTED

STEEL ANGLE

VAPOUR SEAL

NON SKINNING MASTIC
APPLIED TO WARM SIDE

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

[ ASKINPANEL |

WALL TO WALL CONNECTION

10 DETAIL - PLAN VIEW
SCALE 1:2

CONDUCTION CUT
REQUIRED IN LOW
TEMPERATURE ROOMS

VAPOUR BARRIER

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

FLASHING
40x40x0.6
PRE-PAINTED
STEEL ANGLE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

COLDROOM

REMOVE 50mm SECTION OF SKIN
TAPE ACROSS CUT TO CONTINUE

10

A \ B \ c \

H

TITLE:

W ASKIN IPCACOP

Performance Panels WALL TO WALL
CONNECTION DETAILS

i
T, ..\
\/ | || Q'&@ CERTIFICATION SCHEME

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Revision

A 130.01.2018

FIXINGS & NOTES REVISED

Checked By
A SHANNON

Scale

1.2

Drawn By
R VORWERK

Sheet size

A4

Issue date

21.09.2015

Revision

A

Drawing No.

IPCA COP - 306




— EXPOSED TO WEATHER

B REQUIRED IN LOW

 [askneaneL |

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

FLASHING
40x40x 0.6
PRE-PAINTED
STEEL ANGLE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

COLDROOM

EXTERIOR

WEATHER SEAL
POLYURETHANE SEALANT
REQUIRED WHEN

FLASHING

[ ASKINPANEL |

40x40x0.6
PRE-PAINTED
STEEL ANGLE

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

WEATHER SEAL
POLYURETHANE SEALANT
REQUIRED WHEN
EXPOSED TO WEATHER

CONDUCTION CUT ————

TEMPERATURE ROOMS : :
REMOVE 50mm

SECTION OF SKIN

TAPE ACROSS CUTTO
CONTINUE VAPOUR BARRIER

WALL TO WALL CONNECTION

DETAIL - PLAN VIEW
SCALE 12

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FLASHING
40x40x0.6
PRE-PAINTED
STEEL CHANNEL
WITH SAFETY EDGE

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

| AMBIENT / COLDROOM |

10

A \ B \ C \ D E

F G \

H

TITLE: Revision

Checked By
A SHANNON

Scale

1.2

Drawn By

30.01.2018 | PAGE ADDED

R VORWERK

WASKIN 1PCA COP ¢

Sheet size

A4

Issue date

Performance Panels WALL TO WALL

21.09.2015

www.askin.net.au

Revision

A

Drawing No.

VIC P:0397063277 WA P: 089249 4022

SA  P:0882527188 QLD P:07 3718 9500

CONNECTION DETAILS

= PANEL
NSW P:0247741255 NT P:088947 3326 ||Q'£@ CERTIFICATION SCHEME

IPCA COP - 307




° [ ASKINPANEL |

WARM SIDE

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS
FLASHING

40x40x0.6
PRE-PAINTED

STEEL ANGLE

VAPOUR SEAL

NON SKINNING MASTIC
APPLIED TO WARM SIDE

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

- [ASKNPANEL | &

; =

WALL TO WALL CONNECTION

100 DETAIL - PLAN VIEW
SCALE 1:2

CONDUCTION CUT

REQUIRED IN LOW
TEMPERATURE ROOMS

REMOVE 50mm SECTION OF SKIN
TAPE ACROSS CUT TO CONTINUE
VAPOUR BARRIER

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

FLASHING
40x40x0.6
PRE-PAINTED
STEEL ANGLE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

COLDROOM

10

A \ B \ c \

F G \

H

TITLE:

W ASKIN IPCACOP

Performance Panels WALL TO WALL
CONNECTION DETAILS

i
T, ..\
\/ | || Q'&@ CERTIFICATION SCHEME

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Revision

Checked By
A SHANNON

Scale

1.2

A 130.01.2018

FIXINGS & NOTES REVISED Drawn By

R VORWERK

Sheet size

A4

Issue date

21.09.2015

Revision

A

Drawing No.

IPCA COP - 308




WARM SIDE

-

o [ ASKNPANEL | ol

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

FIXING
PC SS 4mm RIVETS
5|  AT300CTRS

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

CONDUCTION CUT
REQUIRED IN LOW / MED
TEMPERATURE ROOMS

COOLROOM

. [ ASKNPANEL]

WALL TO WALL CONNECTION

10 DETAIL - PLAN VIEW
SCALE 1:2

FLASHING

40 x 40 x 0.6mm
PRE-PAINTED
STEEL ANGLE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

OPTIONAL WATER SEAL

~

POLYURETHANE
SEALANT

FREEZER

10

A \ B \ c

\ H

TITLE:

W ASKIN IPCACOP

Performance Panels WALL TO WALL

www.askin.net.au
VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500

el
AT ral FMEL
NSW P:0247741255 NT P:088947 3326 “--/Hp'&@ CERTIFICATION SCHEME

CONNECTION DETAILS

Revision

A 130.01.2018

FIXINGS & NOTES REVISED

Checked By Scale
A SHANNON

1.2

Drawn By Sheet size

R VORWERK

A4

Issue date Revision

21.09.2015

A

Drawing No.

IPCA COP - 309




A B C D E F G H
1 1
g : GIRT COMPONENT
&) 16@ PVC CONDUIT SLEEVE
B Bl GIRT COMPONENT ]
A 630 3mm THICK
HDG STEEL WASHER
2 GIRT COMPONENT 2
NYLON MUSHROOM HEAD
WITH M10 HDG NUT INSERT
| | GIRT COMPONENT |
M10 HDG THREADED ROD
WATER SEAL GIRT COMPONENT
POLYURETHANE SEALANT : M10 HDG THREADED ROD
8 (OPTIONAL) o 3
VAPOUR SEAL o
NON SKINNING MASTIC L
] APPLIED TO WARM SIDE i ™
GIRT COMPONENT
63@ 3mm THICK i
4 HDG STEEL WASHER b 4
A wd
GIRT COMPONENT 2l gl
e 1= o)
W10 HOG HEXAGON NUT EL Bl GIRT FIXING COMPONENT
B GIRT COMPONENT 12 e 150 x 75 x 6 HDG STEEL ]
M10 HDG THREADED ROD 1 13| PLATE
GIRT COMPONENT
GIRT COMPONENT o e GIRT COMPONENT
5 M10 HDG HEXAGON NUT g 16@ PVC CONDUIT SLEEVE 5
GIRT COMPONENT T GIRT COMPONENT
M10 UNIVERSAL SO - M10 HDG THREADED ROD
|| BEAM CLAMP < FIXING |
GIRT COMPONENT PC SS 4mm RIVETS
M10 HDG HEXAGON NUT AT 300 CTRS
6 FLASHING 6
40x40x0.6
- PRE-PAINTED STEEL "T"
e SECTION
TO ENGINEERS
SPECIFICATIONS o]
! (7 12 7
Honf.
JzZ ke ,
4 o
' = GIRT COMPONENT
1Z| 16@ PVC CONDUIT SLEEVE
i GIRT COMPONENT
8 15 CUT SKIN OF WALL PANEL 8
<i INSIDE FACE ONLY.
s COVER WITH 200 x 40 x 8mm
s \ GALV. STEEL PLATE
TN GIRT COMPONENT
— CONTINUOUS 50 x 25
\ S PAINTED STEEL CHANNEL
9 AND HEX HD DOME NUT 9
GIRT COMPONENT
M10 HDG HEXAGON
DOME NUT
B GIRT COMPONENT ]
M10 HDG THREADED ROD
GIRT COMPONENT
' ALTERNATE GIRT FIXING WIOHDG HEXAGONNUT 10
CONNECTION DETAILS - SECTION VIEW
A [ B [ C D E F G [ H
TITLE: Revision Checked By Scale
A SHANNON 1:3
Y i IPCA COP Dy Sheei
R VORWERK A4
Issue date Revision
GIRT FIXING 21.09.2015
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”‘S
SA  P:0882527188 QLD P:07 37189500 rl @ PANEL |PCA COP = 400
NSW P:0247741255 NT P:088947 3326 |?£@ CERTIFICATION SCHEME




A B C D 3 F -
1 1
GIRT FIXING COMPONENT S
| 4 DG STeeL PATE | T
ik NOTE: OFFSET TO MATCH T ]
e THICKNESS OF STEEL GIRT T
. [ g5 Is :
_§
't 1< ]
| | § ) il | n
3 \ 2 ‘  \ ( 3
4 / -\ / 4
° 4l\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\!§\\\\\\\\\\\\\ °
6 i) . 6
7 / 7
B GIRT FIXING COMPONENT EXTRUSION ]
2mm GALVANISED STEEL e 10 x 5mm SINGLE |z
PLATE \ SIDED TAPE GASKET Z
EXTRUSION ilee TN éi
10 x 5mm SINGLE e <12
SIDED TAPE GASKET o | -
( o I
9 gl I .
10 10
ALTERNATE GIRT FIXING
CONNECTION DETAILS - SECTION VIEW
A ‘ B ‘ C \ D E F [ H
TITLE: Revision Checked By Scale
. A SHANNON 13
Drawn By Sheet size
WASKIN IPCACOP M
Issue date Revision
Performance Panels  GIRT FIXING 21.09.2015
ek et CONNECTION DETAILS P
Sh bi0sga i QLD by ariaoems IPCA COP - 401

NSW P:0247741255 NT P:08 8947 3326

o
A
”p'&@ CERTIFICATION SCHEME




A B C D E F G A
- e gl L]
e GAP IS DEPENDENT | |
L L 12 ON THERMAL BOW | |=| |
0 <zl
2 4 1< @ 2
N .
1 1 ) S
| @ W W B L
i @8NS ST
, T ,
\ K
4 4
GIRT COMPONENT o)
| | GIRT FIXING COMPONENT COIL SPRING i L]
2mm GALVANISED STEEL PLATE e
EXTRUSION Neai e
10 x 5mm SINGLE o
5 SIDED TAPE GASKET o i 5
u . I
|| 7 T — [ S L]
|| Iz -
B Sl
1= 1z
6 ~ 12 6
<< s
B GAP DEPENDENT i i B
ON THERMAL BOW
7 7
8 8
9 9
10 10
ALTERNATE GIRT FIXING
CONNECTION DETAILS - SECTION VIEW
A \ B \ C \ D E F G \ H
TITLE: Revision Checked By Scale
A SHANNON 13
/’/ | PCA CO P Drawn By Sheet size
R VORWERK A4
Issue date Revision
GIRT FIXING 21.09.2015
i Drawing No.
wgvmll:’a[glggﬁggiauw}\ P : 08 9249 4022 CONNECT|ON DETA”‘S e
SA P:0882527183 QLD P:0737189500 [N Jol e IPCA COP - 402
NSW P:0247741255 NT P:08 8947 3326 |p~.h CERTIFICATION SCHEME




4 | STRUCTURAL STEEL MEMEBER |

STEEL PLATE
175x75x 4
HDG STEEL PLATE

FIXING

SERIES 500 HEX HEAD
12x24x 38

CLASS 3 SCREW

b
<y
b4

| STEELPLATE

175x75x 4

HDG STEEL PLATE
VARIES WITH PANEL
THICKNESS

S — N

M6 x 50 DYNABOLTS
AT 600 CTRS OR
M6.5 STEEL SPIKES /

e x STEEL PLATE

HAMMER PINS AT 400 CTRS ||

SR 87 x15x2x 400 LONG
SN STEEL HDG CHANNEL
STSTEON VARIES WITH PANEL 7
e \THICKNESS
FIXING
: SERIES 500 HEX HEAD
B 12x24 x 38 [ ]
e ‘, L CLASS 3 SCREW
L ) “ 4 < : : 8
e, [ _ASKINPANEL |
4 4 < . s ’ . B v o
a A " 4 a . 5 s R B Ll VL S
. X . ” jA .
[ | a 2 a 9 2 ” < | . ]
< 4 < 4 » 4 a
a a, . . 4 4
B B “ a7 , 9
4 < <
a9 a 4 < 4
SECTION VIEW "
CONCEALED FIX - HORIZONTAL PANEL
SCALE 1:2
A [ B [ C [ E F G [ H
TITLE: Revision CAhEg;-eldAﬁlNON Scale 19
/’/ AS”NM |PC A COP A [30.01.2017 [NOTES REVISED Drawn By Sheaisize :
- - R VORWERK A4
Performan Panel Issue date Revision
erformance Panels o FIXING 21.09.2015 A
i Drawing No.
ml\l\l\é.:aoglggérs’lgg.aum P+ 08 9249 4022 CONNECTION DETAILS
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP -403
NSW P:0247741255 NT P:0889473326 |/ ||Q'£@ CERTIFICATION SCHEME




A B C D E F G H
s /,
< B 4 a VAA
1 o ’ ‘ 1
“ 4 4 a N < <
< < 4 4 a N
< a < a
B Pl
| v 4 < ‘ ‘ ‘ ’ 4 a : -
a < < 4
o7 a n K s 4 .
p . s .4
2 c e L, “ . 2
) I - STEEL PLATE
<, R 4 L e 87 x 15 x 2 x 400 LONG
4 . ‘ s . ) STEEL HDG CHANNEL
| S R & ? VARIES WITH PANEL ]
. e e LTy THICKNESS
P s . | FIXING
3 ’ S S M6 x 50 DYNABOLTS 3
R . o a OR
& PR o a . . M6.5 STEEL SPIKES /
., . 2 A ! HAMMER PINS
| qA 2 ” < a 4 , —
AT a ’
4 s 4 v <
< a4 4 a "
4 ; 4 P a 4
2 a CONCRETE PANEL . 4
4 4 B . a e
T, < a
a 4 4 9
1 < Y 4 a " AA L
44 <74 < < )
< 4 4 a4 a <
< 4 - a 4
a4 < a
5 . R - . . / 5
a < <
|| v ‘ < ° AA 4 AVA —
o’ 4 a 7 < .
- 4 4 2 4
o L. .,
“a v < 4 4 :
6 L s . . - 6
A < < 4 a 9 a
< < il
. . ; ws .
< 4 a 4
Y s 4 sd
|| A L . ]
a. s s . N “
N s 4 4 a
@ s 4
4 Aq < 4 4
7 o e e ERPRI PV —FIXING 7
s . . a e . SERIES 500 HEX HEAD
? o ° ER A aa 12x24x 38
| | ad oy . . N CLASS 3 SCREW |
o ad s L, | STEEL PLATE
. . . ” <4 175x 75 x 4
L S s . HDG STEEL PLATE
8 ; 4 . 7 @t VARIES WITH PANEL 8
B THICKNESS
a a a < 4 R < ” .
|| < a4 < a a L]
a4 < 4 - a
< a4
p) 2 4 < < a .
< 4 < qA a qA ”
9 T ey - . ; 4 9
R 4 a 4, SRR o
< < 4 4 4 RN
L, . ¥ . | ASKINPANEL |~
< 4 G 4 2 B /I/ T
0 SECTION VIEW "
CONCEALED FIX - VERTICAL PANEL
SCALE 1:2
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
- A SHANNON 1:2
/’/ AS”N |PC A COP A |30.01.2017 NOTES REVISED Drawn By Sheetsize
- - R VORWERK Ad
Performance Panels Issue date Revision
GIRT FIXING 21.09.2015 A
i Drawing No.
wg\mllaaoglggsggsauWA P : 08 9249 4022 CONNECT|ON DETA”‘S
SA  P:0882527188 QLD P:07 3718 9500 \/“| e p IPCA COP -404
NSW P:0247741255 NT P:088947 3326 P‘;“- CERTIFICATION SCHEME




A B C D E G \ H
FIXING $ | |
SERIES 500 HEX HEAD | | 1
122438 \ |
CLASS 3 SCREW | |
|| STEELPLATE ———— \ \ ]
PLUMMER TIE PLATE | |
STEEL PLATE ——— | |
87 x 15 x 2 x 400 LONG | | 2
STEEL HDG CHANNEL . O O
VARIES WITH PANEL THICKNESS 1 \
| STEEL GIRT \ \ -
TO ENGINEERS \ \
SPECIFICATIONS | |
3
[ ASKINPANEL | | } }
- *
PLAN VIEW .
CONCEALED FIX - VERTICAL PANEL
STEEL PLATE
] - 87x15x2x400LONG [
STEEL HDG CHANNEL
VARIES WITH PANEL
THICKNESS 5
STEEL PLATE
PLUMMER TIE PLATE
— FIXING —
SERIES 500 HEX HEAD
1 12 %24 x 38
CLASS 3 SCREW 6
STEEL GIRT
TO ENGINEERS
/ SPECIFICATIONS
-
= _
8 f N 7
8
N—— —4
9
[ ASKINPANEL |
SECTION VIEW 0
CONCEALED FIX - VERTICAL PANEL
SCALE 1:2
A \ B \ C [ D E G [ H
TITLE: Revision Checked By Scale
. A SHANNON 122
WASKIN IPCACOP
R VORWERK Ad
Performance Panels Issue date Revision
GIRT FIXING 21.09.2015
i Drawing No.
wg’“;at]glggﬁggsauWA P : 08 9249 4022 CONNECT|ON DETA”‘S
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP - 405
NSW P:0247741255 NT P:0889473326 ]Ipf\g@ CERTIFICATION SCHEME




A B C D E G H
1
2
B STEEL PLATE B
87 x 15x 2 x 400 LONG
STEEL HDG CHANNEL
VARIES WITH PANEL 3
THICKNESS
STEEL PLATE
| 175x75x 4 L]
HDG STEEL PLATE
VARIES WITH PANEL
THICKNESS |
\ )
FIXING
SERIES 500 HEX HEAD
12x24 x 38
— CLASS 3 SCREW —
REFER TO ENGINEER
DRAWINGS FOR \
SPECIFICATIONS > — — — — — — 5
=
| o Ol IERE
g
————————— 6
-
7
8
9
[ ASKINPANEL |
SECTION VIEW Cimeemom N
CONCEALED FIX - VERTICAL PANEL ' : J\
SCALE 1:2
A \ B \ C \ D E G [ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:2
WASHKIN IPCACOP
R VORWERK A4
Performan Panel Issue date Revision
erormance FAnEE - GIRT FIXING 21.09.2015
i Drawing No.
wgvvi'-ao%lggéggg'auvv/\ P08 9249 4022 CONNECTION DETAILS
SA  P:0882527188 QLD P:0737189500  |OPZATTERVER pucl IPCA COP - 406
NSW P:0247741255 NT P:0889473326 [~ ||Q'£@ CERTIFICATION SCHEME




A B C \ D F G H
1 T STEEL PLATE 1
@ 87 x 15 x 2 x 400 LONG
STEEL HDG CHANNEL
| | VARIES WITH PANEL THICKNESS |
@ FIXING
— SERIES 500 HEX HEAD
] 12x 24 x 38
2 CLASS 3 SCREW 2
@/ STEEL PLATE
/175x75x4
= ; HDG STEEL PLATE -
VARIES WITH PANEL
- ~ THICKNESS
= |
3 § 7 3
STEEL GIRT
TO ENGINEERS
SPECIFICATIONS
4 4
@ FIXING
SERIES 500 HEX HEAD
‘ 12x24x 38
] CLASS 3 SCREW ]
STEEL ANGLE
40 x 40 x 2mm ANGLE
5 — R FIXED TO GIRT CONCEALED 5
1" ASKIN PANEL PANEL BRACKET
SECTION VIEW e
[ | CONCEALED FIX - — ’ - n
VERTICAL PANEL
I I
6 FIXING | | 6
SERIES 500 HEX HEAD
12x24x38 | |
CLASS 3 SCREW | |
- STEEL ANGLE | | —
40 x 40 x 2mm ANGLE
FIXED TO GIRT CONCEALED | |
; PANEL BRACKET | .
STEEL PLATE
175x75x 4 ‘
HDG STEEL PLATE \
- VARIES WITH PANEL | L]
THICKNESS |
8 STEEL PLATE | 8
87 x 15 x 2 x 400 LONG \
STEEL HDG CHANNEL |
VARIES WITH PANEL THICKNESS | ;
| FIXING e | B
SERIES 500 HEX HEAD [ ASKINPANEL | \
12x 24 x 38 LTI |
9 CLASS 3 SCREW R ‘ ?
STEEL GIRT et H
TO ENGINEERS ST |
[ | SPECIFICATIONS \ n
|
10 PLAN VIEW 10
CONCEALED FIX - VERTICAL PANEL
SCALE 1:2
A [ B [ C [ D F G [ H
TITLE: Revision Checked By Scale
n A SHANNON 1:2
WASHKIN IPCACOP
R VORWERK Ad
Performance Panels Issue date Revision
GIRT FIXING 21.09.2015
i Drawing No.
w(}}N\AFIDaO%lgI[’)]BgZe?EauWA P : 08 9249 4022 CONN ECTlON DETA' LS
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP - 407
NSW P:0247741255 NT P:0889473326 ]Ipf\g@ CERTIFICATION SCHEME




e
A e B
\/ | || QT\E@ CERTIFICATION SCHEME

NSW P:0247741255 NT P:08 8947 3326

A B T \ E \ F G \ A
STEEL PLATE
= / 87 x 15 x 2 x 400 LONG
1 +— STEEL HDG CHANNEL 1
VARIES WITH PANEL THICKNESS
FIXING
SERIES 500 HEX HEAD
[ 12x24x38 T
CLASS 3 SCREW )
2 2
z
=
3 8 FIXING 3
SERIES 500 HEX HEAD
12x 24 x 38
[ | CLASS 3 SCREW |
STEEL GIRT
TO ENGINEERS
SPECIFICATIONS
4 4
STEEL PLATE
‘ 175x 75 x 4
HDG STEEL PLATE
— VARIES WITH PANEL —
‘ THICKNESS
; i ; 5
ASKIN PANEL
SECTION VIEW
CONCEALED FIX - ) |
VERTICAL PANEL
\
6 \ 6
FIXING |
SERIES 500 HEX HEAD |
|| 12x 24 x 38 |
CLASS 3 SCREW |
STEEL PLATE |
7 175X 75 x 4 | 7
HDG STEEL PLATE |
VARIES WITH PANEL
THICKNESS \
- ‘ |
STEEL PLATE |
87 x 15 x 2 x 400 LONG
8 STEEL HDG CHANNEL \ 8
VARIES WITH PANEL THICKNESS |
FIXING |
SERIES 500 HEX HEAD
B 12x 24 x 38 Lo | N
CLASS 3 SCREW \
g STEEL GIRT [ ASKINPANEL] | o
TO ENGINEERS bR \a — |
SPECIFICATIONS : |
N — | n
J |
0 PLAN VIEW 0
CONCEALED FIX - VERTICAL PANEL
SCALE 1:2
A B \ C \ E F G \ H
TITLE: Revision Checked By Scale
A SHANNON 1:2
/I/ASKIN IPCA COP
R VORWERK Ad
Performance Panels GIRT FIXING 'SSL'2e1“‘(*)‘; 2015 Revision
i Drawing No.
w(}!v“!’:’a(]?ilggﬁ gSEIaUWA P: 08 9249 4022 CON N ECTlON DETA' LS
SA  P:0882527188 QLD P:07 37189500 |PCA COP = 408




10

’ ASKIN PANEL

STEEL GIRT
TO ENGINEERS

/

SPECIFICATIONS

\

ASKIN PANEL

VERTICAL STACK JOINT CONNECTION

DETAIL - SECTION VIEW
SCALE 12

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

WEATHER SEAL
POLYURETHANE
SEALANT

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FIXING

14 GAUGE TEK SCREWS

WITH 40 x 9mm COUNTERSUNK
WASHER AT 400 CTRS

FLASHING
0.6mm COLORBOND
STEEL FLASHING

FIXING

14 GAUGE TEK SCREWS

WITH 40 x 9mm COUNTERSUNK
WASHER AT 400 CTRS

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

WEATHER SEAL
POLYURETHANE
SEALANT

10

A \ B \ C \ D E

G \ H

V'

www.askin.net.au
VIC P:039706 3277
P: 0882527188
NSW P : 024774 1255

SA

TITLE: Revision

Checked By Scale
A SHANNON

1.2

Drawn By Sheet size

30.01.2018

IPCA COP 2

DETAIL ADDED

R VORWERK

A4

Issue date Revision

GIRT FIXING

21.09.2015

A

Drawing No.

CONNECTION DETAILS

WA P 089249 4022

QLD P:07 3718 9500

IPCA COP - 409

0
4 PANEL
NT P :088947 3326 ”p@.@ CERTIFICATION SCHEME




A \ B

WATER SEAL
POLYURETHANE SEALANT

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

| GIRT COMPONENT
320 1.6mm THICK
HDG STEEL WASHER

GIRT COMPONENT
M10 HDG HEXAGON NUT

GIRT COMPONENT

— M10 HDG THREADED ROD

GIRT COMPONENT
3mm FOLDED GALV.
STEEL BRACKET

STEEL BEAM
TO ENGINEERS

— SPECIFICATIONS

BY OTHERS

p

i

N

R

(mm GAP| g
NOMINAL |- -

i§g3 f

[ _ASKINPANEL |

GIRT COMPONENT
63@ 3mm THICK
HDG STEEL WASHER

GIRT COMPONENT
NYLON MUSHROOM
HEAD WITH M10 HDG
NUT INSERT

GIRT COMPONENT
M10 HDG
THREADED ROD

GIRT COMPONENT
16@ PVC CONDUIT
SLEEVE

FLASHING
100x 0.6
PRE-PAINTED
STEEL FLAT

FIXING

H_— PCSS4mmRIVETS

AT 300 CTRS

THERMAL CUT

SCALE 1:2

MID SPAN GIRT FIXING
CONNECTION DETAIL - SECTION VIEW

EXTERNAL

i

10

A \ B

\ c \ D

G \ H

WASKIN

Performance Panels

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

TITLE:

IPCA COP

GIRT FIXING
CONNECTION DETAILS

o
7 115VEE]
V4 UIPIEQ] iroinonscrene

Revision

Checked By Scale
A SHANNON

A 130.01.2018

DETAIL ADDED

Drawn By Sheet size

R VORWERK

A4

Issue date Revision

21.09.2015

Drawing No.

IPCA COP - 410




A B C D E F G H
y FIXING 1
PC SS 4mm RIVETS
AT 300 CTRS FLASHING
40x40x0.6
— OPTIONAL PRE-PAINTED L]
WATER SEAL STEEL ANGLE
POLYURETHANE
SEALANT FIXING
: e s :
70x40x0.6
PRE-PAINTED OPTIONAL WATER SEAL
STEEL ANGLE FOOD GRADE SEALANT
B REQUIRED TO WASH [
VAPOUR SEAL DOWN AREAS
NON SKINNING MASTIC
3 APPLIED TO WARM SIDE 3
OPTIONAL WATER SEAL
POLYURETHANE SEALANT
B FLASHING S // FLASHING B
35x35%0.6 T 40x40x 0.6
PRE-PAINTED STEEL ~ \« 7= PRE-PAINTED
5 COVE ANGLE i STEEL RADIUS 5
FIXING G FIXING
PC SS 4mm RIVETS 5 PC SS 4mm RIVETS
|| AT 300 CTRS AT 300 CTRS L]
OPTIONAL WATER SEAL OPTIONAL WATER SEAL
FOOD GRADE SEALANT FOOD GRADE SEALANT
6 REQUIRED TO WASH REQUIRED TO WASH 6
DOWN AREAS DOWN AREAS
7 7
FIXING FIXING
PC SS 4mm RIVETS PC SS 4mm RIVETS
B AT 300 CTRS AT 300 CTRS ]
FLASHING FLASHING
8 40x40x0.6 30x30x0.6 8
PRE-PAINTED PRE-PAINTED
STEEL ANGLE STEEL ANGLE
EXTRUSION EXTRUSION
— 35mm POWDER COATED POWDERCOATED —
ALUMINIUM RADIUS ALUMINIUM 2 PART
HIDDEN FIX RADIUS
OPTIONAL WATER SEAL
DOWN AREAS REQUIRED TO WASH
DOWN AREAS
ALTERNATIVE INTERNAL CORNICE
10 10
CONNECTION DETAILS - SECTION VIEW
SCALE 1:2
A \ B \ C \ D E F G \ H
TITLE: Revision Checked By Scale
A SHANNON 1.2
/’/ | P C A C O P A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Issue date Revision
WALL TO CEILING 21.09.2015 A
i Drawing No.
wy%.%gﬁigéggg.auWA P+ 08 9249 4022 CONNECTION DETAILS
SA  P:0882527188 QLD P:07 37189500 A it IPCA COP - 500
NSW P:0247741255 NT P:08 8947 3326 ”@S_@ CERTIFICATION SCHEME




A \ B \ C D E \ F G H
OPTIONAL WATER SEAL WARM SIDE
1 POLYURETHANE SEALANT 1
FLASHING
70x40x 0.6 —
|| PRE-PAINTED Lo n
STEEL ANGLE ]
VAPOUR SEAL i ‘
NON SKINNING MASTIC .
2 APPLIED TO WARM SIDE e 2
OPTIONAL WATER SEAL
POLYURETHANE SEALANT i N
— REBATE o —
38mm x CEILING
THICKNESS
3 3
S FLASHING
40x40x0.6
g o= PRE-PAINTED
4 e L STEEL ANGLE 4
o [ ASKINPANEL | FIXING
WARM SIDE S e e PC SS 4mm RIVETS
- e AT 300 CTRS —
WALL TO CEILING S OPTIONAL WATER SEAL
CONNECTION DETAIL - e AMBIENT FOOD GRADE SEALANT
5 S REQUIRED TO WASH 5
SECTION VIEW 4/ DOWN AREAS (OPTIONAL)
SCALE 1:2
B OPTIONAL WATER SEAL B
POLYURETHANE SEALANT WARM SIDE
6 FLASHING 6
40x40x0.6
PRE-PAINTED
STEEL ANGLE
B VAPOUR SEAL ]
NON SKINNING MASTIC
APPLIED TO WARM SIDE Sl CenlT e e
! FIXING B b L et e !
AT 300 CTRS S et
| OPTIONAL WATER SEAL ]
POLYURETHANE SEALANT
8 e 8
|| \—FLASHING L
fhc o o o 40x40x 0.6
L e = PRE-PAINTED
TN PANEL 1T STEEL ANGLE
S e FIXING
: AR PC SS 4mm RIVETS
AT 300 CTRS
m OPTIONAL WATER SEAL ™
ALTERNATE WALL TO FOOD GRADE SEALANT
CEILING CONNECTION gg\c/lvlmigg(vc\;ﬁ%mu
10 DETAIL - SECTION VIEW e R 10
SCALE 1:2 l R
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
. A SHANNON 122
/’/ AsmN |PC A COP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Performance Panels Issue date Revision
WALL TO CEILING 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”‘S
SA  P:0882527188 QLD P:07 3718 9500 \/ﬁ e p IPCA COP - 501
NSW P:0247741255 NT P:088947 3326 |p~.:c. CERTIFICATION SCHEME




s WARM SIDE

: : ASKINPANEL L

j

[ ASkmPANEL |

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

FLASHING
40x40x0.6
PRE-PAINTED
STEEL ANGLE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

100 WALL TO CEILING CONNECTION

DETAIL - SECTION VIEW
SCALE 1:2

10

A \ B \ c \ D

F G \ H

TITLE:

W ASKIN IPCACOP

Performance Panels WALL TO CEILING
CONNECTION DETAILS

o
4T el
\/ | || Q'&@ CERTIFICATION SCHEME

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Revision

Checked By Scale
A SHANNON 1:2

A 130.01.2018

FIXINGS & NOTES REVISED Drawn By Sheet size

R VORWERK A4

Issue date Revision

21.09.2015 A

Drawing No.

IPCA COP - 502




OPTIONAL
1 WATER SEAL
POLYURETHANE
SEALANT

FR FOAM
FILL GAP

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

FLASHING
100x 0.6
u PRE-PAINTED
STEEL FLAT

OPTIONAL
3 WATER SEAL
POLYURETHANE
SEALANT

% [ ASKNPANEL |

WARM SIDE

-~ [ ASKINPANEL |

10 WALL TO CEILING CONNECTION

DETAIL - SECTION VIEW
SCALE 12

[ ASKINPANEL |

AMBIENT

FLASHING
40x40x0.6
PRE-PAINTED
STEEL ANGLE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

10

A \ B \ c

\ H

TITLE:

Performance Panels

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

WASKIN 1PCA COP ¢

WALL TO CEILING
CONNECTION DETAILS

o
4T el
\/ | || Q'&@ CERTIFICATION SCHEME

Revision

30.01.2018

FIXINGS & NOTES REVISED

Checked By
A SHANNON

Scale

1.2

Drawn By Sheet size

R VORWERK

A4

Issue date Revision

21.09.2015

A

Drawing No.

IPCA COP - 503




A B C E F G H
1 1
2 2
3 3
4 4
FIXING
|| 12 x 25 TEK SCREWS
5 // 5
o OPTIONAL WATER SEAL
6 et FOOD GRADE SEALANT 6
REQUIRED TO WASH
Pt DOWN AREAS
|| a FLASHING
e 40x40x0.6
SRR PRE-PAINTED STEEL
G ANGLE
7 et VAPOUR SEAL 7
T NON SKINNING MASTIC
ol APPLIED TO WARM SIDE
|| 1z FIXING
=zl PC SS 4mm RIVETS
S AT 300 CTRS
o<
8 ) OPTIONAL WATER SEAL 8
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS
9 9
10 WALL TO CEILING CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:2
A [ B [ C [ E F G [ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:2
/’/ AsmN |P C A C OP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK Ad
Performan Panel Issue date Revision
Srormanse TENEE - WALL TO CEILING 21.09.2015 A
i Drawing No.
wélv\l\é.:a(glggéggg.aum P : 08 9249 4022 CONNECTION DETAILS
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP - 504
NSW P:0247741255 NT P:0889473326 |/ ”p@g CERTIFICATION SCHEME




CASKINPANEL |

WARM SIDE

OPTIONAL WATER SEAL
POLYURETHANE
SEALANT

FLASHING
40x40x0.6
PRE-PAINTED STEEL
ANGLE

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

OPTIONAL WATER SEAL
POLYURETHANE
SEALANT

CONDUCTION CUT
REQUIRED IN LOW TEMPERATURE ROOMS
REMOVE 50mm SECTION OF SKIN.

. [AsKNPANEL |

10 WALL TO CEILING CONNECTION

DETAIL - SECTION VIEW
SCALE 1:2

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

FLASHING
40x40x0.6
PRE-PAINTED
STEEL ANGLE

FIXING

PC SS 4mm RIVETS
AT 300 CTRS

COLD ROOM

TAPE ACROSS CUT TO CONTINUE VAPOUR BARRIER

10

A \ B \ c \

F G \

H

TITLE:

W ASKIN IPCACOP

Performance Panels WALL TO CEILING
CONNECTION DETAILS

i
T, ..\
\/ | || Q'&@ CERTIFICATION SCHEME

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Revision

Checked By
A SHANNON

A

Scale

1.2

30.01.2018

FIXINGS & NOTES REVISED Drawn By

R VORWERK

Sheet size

A4

Issue date

21.09.2015

Revision

A

Drawing No.

IPCA COP - 505




A B T F G H
1 1
OPTIONAL WATER SEAL VAPOUR SEAL
POLYURETHANE WARM SIDE NON SKINNING MASTIC
2 SEALANT APPLIED TO WARM SIDE 2
FLASHING
VAPOUR BARRIER 100x06
|| PRE-PAINTED STEEL FLAT |
OPTIONAL WATER SEAL
POLYURETHANE
s SEALANT s
4 4
5 5
6 6

CONDUCTION CUT OPTIONAL WATER SEAL
| | REQUIRED INLOW FOOD GRADE SEALANT n
TEMPERATURE ROOMS REQUIRED TO WASH
REMOVE SECTION OF SKIN. DOWN AREAS
TAPE ACROSS CUT TO
7 CONTINUE VAPOUR BARRIER %_6 7
PRE-PAINTED STEEL
ANGLE
- FIXING ]
S R PC SS 4mm RIVETS
T e e AT 300 CTRS
8 b KIN PANEL OPTIONAL WATER SEAL 8
o e T b FOOD GRADE SEALANT
e s REQUIRED TO WASH
Sl DOWN AREAS
[ COLD ROOM/ AMBIENT 8 /l/ an COLD ROOM
9 9
o WALL TO CEILING CONNECTION 0
DETAIL - SECTION VIEW
SCALE 1:2
A [ B [ C [ F G [ H
TITLE: Revision (j:sgl;_eldA Er:i/NON Scale '
/’/ AsmNm |PC A COP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize :
- - R VORWERK A4
Performan Panel Issue date Revision
Srormanse TENEE - WALL TO CEILING 21.09.2015 A
i Drawing No.
mlv\l\é.:a[glggéggg.aum P : 08 9249 4022 CONNECTION DETAILS
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP - 506
NSW P:0247741255 NT P:0889473326 |/ ”p@g CERTIFICATION SCHEME




A \ B C D E F G \ H
VAPOUR SEAL OPTIONAL WATER SEAL
NON SKINNING MASTIC POLYURETHANE
1 APPLIED TO WARM SIDE SEALANT 1
FLASHING
100x 0.6 REBATE
PRE-PAINTED STEEL FLAT 38mm x CEILING
THICKNESS
] FLASHING ]
70x40x0.6
PRE-PAINTED STEEL ANGLE WARM SIDE
2 VAPOUR SEAL 2
NON SKINNING MASTIC
APPLIED TO WARM SIDE -
| OPTIONAL WATER SEAL ]
POLYURETHANE SEALANT
<> [ AskPANEL | e |\ Caskwpaner | o—>
5 S 5
e AMBIENT
AMBIENT Z OPTIONAL WATER SEAL
m Tl FOOD GRADE SEALANT
~ REQUIRED TO WASH
DOWN AREAS
6 FLASHING 6
40x40x0.6
PRE-PAINTED STEEL
|| VAPOUR SEAL ANGLE ||
NON SKINNING MASTIC FIXING
APPLIED TO WARM SIDE PC SS 4mm RIVETS
FLASHING AT 300 CTRS
7 70 x 40 x 0.6 PRE-PAINTED OPTIONAL WATER SEAL |7
STEEL ANGLE FOOD GRADE SEALANT
OPTIONAL WATER SEAL REQUIRED TO WASH
|| POLYURETHANE DOWN AREAS -
SEALANT
8 8
9 9
\
B AMBIENT B
10 WALL TO CEILING CONNECTION 10
- :
DETAIL - SECTION VIEW — -
SCALE 1:2
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
" A SHANNON 1:2
/’/ AS”N |PC A COP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK Ad
Performan Panel Issue date Revision
Srormanse TENEE - WALL TO CEILING 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”‘S
SA  P:0882527188 QLD P:07 3718 9500 \/ﬂ e o IPCA COP - 507
NSW P:0247741255 NT P:088947 3326 |p.::| CERTIFICATION SCHEME




A B C E F G H
1 1
WARM SIDE
2 2
FLASHING G R D
70x40x 0.6 R
|| PRE-PAINTED STEEL e B
ANGLE S e
VAPOUR SEAL Dl e
NON SKINNING MASTIC e
3 APPLIED TO WARM SIDE T ASKNPANEL | ’
OPTIONAL WATER SEAL T T
POLYURETHANE RN e
— SEALANT s S =
OPTIONAL WATER SEAL Sl Ea
FOOD GRADE SEALANT S S
4 REQUIRED TO WASH e W 4
DOWN AREAS A -
REBATE :
|| 38mm x CEILING ||
THICKNESS OPTIONAL WATER SEAL
CONDUCTION CUT FOOD GRADE SEALANT
REQUIRED IN LOW REQUIRED TO WASH
5 TEMPERATURE ROOMS DOWN AREAS 5
REMOVE SKIN FLASHING
NOTE: 40x40x0.6
- SKIN TO OVERLAP PRE-PAINTED STEEL L]
WALL 10mm ANGLE
FIXING
6 PC SS 4mm RIVETS 6
AT 300 CTRS
SR S ———OPTIONAL WATER SEAL
e e S e FOOD GRADE SEALANT
] fivpanior] ASKINPANEL 1St REQUIRED TO WASH ]
S e R e B DOWN AREAS
7 7
AMBIENT COLD ROOM
8 8
9 9
10 WALL TO CEILING CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:2
A \ B \ C \ E F G \ H
TITLE: Revision Checked By Scale
- A SHANNON 12
/’/ AsmN |PC A COP A [30.01.2018 [FIXINGS & NOTES REVISED Drawn By Sheet size
: : R VORWERK A4
Performan Panel Issue date Revision
erormance FAanes \WALL TO CEILING 21002015 A
i Drawing No.
wyméatlglggﬁggsauWA P : 08 9249 4022 CONNECT|ON DETA”‘S
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP - 508
NSW P:0247741255 NT P:0889473326 |/ ”p@g CERTIFICATION SCHEME




A B C D E F G H
1 1
2 2
— CONDUCTION CUT .
REQUIRED IN LOW
TEMPERATURE ROOMS WARM SIDE
3 REMOVE SECTION OF SKIN. 3
TAPE ACROSS CUT TO
CONTINUE VAPOUR BARRIER
4 ‘ 4
o\ [AskNPANEL |
5 o SEene 5
| ST s = — ]
6 ——— OPTIONAL WATER SEAL 6
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS
[ FLASHING ™
40x40x0.6
PRE-PAINTED
7 STEEL ANGLE 7
. o ) : VAPOUR SEAL
s R B T e NON SKINNING MASTIC
| COLD ROOM/AMBIENT | R R e APPLIED TO WARM SIDE
=] ASKIN PANEL T
| e R R FIXING ]
L L PC SS 4mm RIVETS
AT 300 CTRS
8 OPTIONAL WATER SEAL 8
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS
AMBIENT
9 9
o WALL TO CEILING CONNECTION 0
DETAIL - SECTION VIEW
SCALE 1:2
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:2
/’/ AsmN |P C A C OP A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Performan Panel Issue date Revision
Srormanse TENEE - WALL TO CEILING 21.09.2015 A
i Drawing No.
wg\mg:aoglggéggg.auWA P : 08 9249 4022 CONNECTION DETAILS
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP - 509
NSW P:0247741255 NT P:0889473326 |/ ”p@g CERTIFICATION SCHEME




A \ B C

VAPOUR SEAL

NON SKINNING MASTIC
1 APPLIED TO WARM SIDE
FLASHING
100x 0.6
PRE-PAINTED STEEL FLAT

FLASHING
70 x40 x 0.6 PRE-PAINTED
STEEL ANGLE

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

| OPTIONAL WATER SEAL
POLYURETHANE SEALANT

WARM SIDE

OPTIONAL WATER SEAL
POLYURETHANE 1
SEALANT

REBATE
38mm x CEILING
THICKNESS

CONDUCTION CUT
REQUIRED IN LOW
TEMPERATURE ROOMS
REMOVE SKIN

NOTE:
SKIN TO OVERLAP L
WALL 10mm

N

[ ASKINPANEL |

CONDUCTION CUT
REQUIRED IN LOW
TEMPERATURE ROOMS
REMOVE 50mm

SECTION OF SKIN

TAPE ACROSS CUT TO
CONTINUE VAPOUR BARRIER

9 [ COLDROOM/AMBIENT |

/[ ASKINPANEL |

10 WALL TO CEILING CONNECTION

DETAIL - SECTION VIEW
SCALE 1:2

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

FLASHING
40x40x0.6 7
PRE-PAINTED STEEL
ANGLE

FIXING —
PC SS 4mm RIVETS
AT 300 CTRS

OPTIONAL WATER SEAL |8
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

COLD ROOM 9

10

A \ B \ c \

\ H

TITLE:

W ASKIN IPCACOP

Performance Panels WALL TO CEILING

www.askin.net.au
VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500

el
47 1 Fes=al| FANEL
NSW P:0247741255 NT P:088947 3326 “--/”p'&@ CERTIFICATION SCHEME

CONNECTION DETAILS

Revision

Checked By Scale
A SHANNON 1:2

A 130.01.2018

FIXINGS & NOTES REVISED

Drawn By Sheet size

R VORWERK A4

Issue date Revision

21.09.2015 A

Drawing No.

IPCA COP - 510




VAPOUR SEAL
NON SKINNING MASTIC 1
APPLIED TO WARM SIDE

CUSTOM FLASHING
PRE-PAINTED STEEL FLAT

OPTIONAL WATER SEAL
POLYURETHANE
SEALANT

WARM SIDE

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

VAPOUR BARRIER

CONDUCTION CUT

7 [ ASKIN PANEL _ e

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

SRR e FLASHING
- = 4040 0. 7
S PRE-PAINTED STEEL
L e ANGLE
e FIXING
S e PC SS 4mm RIVETS
AT 300 CTRS

———OPTIONAL WATER SEAL 8
FOOD GRADE SEALANT
REQUIRED TO WASH
DOWN AREAS

COLD ROOM L

WALL TO CEILING CONNECTION 10

DETAIL - SECTION VIEW
SCALE 1:2

A \ B \ C \ D E F G \ H

TITLE: Revision Checked By Scale

™ A SHANNON 1.2
/’/ AS”N | P C A C O P A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - - R VORWERK A4

Performance Panels - - Issue date Revision
WALL TO CEILING - | - 21.09.2015 A

. - - - Drawing No.
Wé” \AL.:a[gIggéggg.auWA P 108 92494022 ;;;E"g]:silfTAlLS — - g|PCA COP - 511

SA  P:0882527188 QLD P:07 3718 9500
NSW P:0247741255 NT P:08 8947 3326




| WARM SIDE L]

OPTIONAL WATER SEAL
POLYURETHANE
SEALANT 2

FLASHING

40 x 40 x 0.6mm
PRE-PAINTED STEEL
ANGLE

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

CONDUCTION CUT
REQUIRED IN LOW
TEMPERATURE ROOMS —
REMOVE 50mm SECTION
OF SKIN. TAPE ACROSS CEILING

CUT TO CONTINUE SUSPENSION
VAPOUR BARRIER COMPONENTS
OPTIONAL WATER SEAL
POLYURETHANE
SEALANT

~

o [ ASKINPANEL |

IS N 3 —_—

OPTIONAL WATER SEAL
FOOD GRADE SEALANT
REQUIRED TO WASH

DOWN AREAS —]

FLASHING
40 x 40 x 0.6mm

PRE-PAINTED COLD ROOM 8

STEEL ANGLE

FIXING
e PC SS 4mm RIVETS
|| L e AT 300 CTRS m

o
WALL TO CEILING CONNECTION 10
DETAIL - SECTION VIEW

SCALE 1:2

A \ B \ C \ D E F G \ H

TITLE: Revision Checked By Scale

™ A SHANNON 1.2
/’/ AS”N | P C A C O P A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - - R VORWERK A4

Performance Panels - - Issue date Revision
WALL TO CEILING - | - 21.09.2015 A

. - - - Drawing No.
Wé” \AL.:a[gIggéggg.auWA P 108 92494022 ;;;E"g]:silfTAlLS — - g|PCA COP-512

SA  P:0882527188 QLD P:07 3718 9500
NSW P:0247741255 NT P:08 8947 3326




A \ B C D E F \ G H
1 B 1
< A ‘
< 4
[ | pa) < 5 7
s a AA L 4 SUSPENSION COMPONENT
’ G 475mm@ 7 x 19 STEEL CORE
2 N g . GALVANISED WIRE ROPE WITH 2
", 0 ag , SWAGGED LOOP AT ONE END
v ‘ ¢ 4 SUSPENSION COMPONENT
g R a HANGFAST NO. 4
B 49 a 2 GRIPPLE HANGER ]
A 3 -
4 4 pa) . ) :
3 5 ; 4 & 3
a 4 < A 2 9 “ , .
4
|| < dg [
4
é a 4 " ﬂ
4 N <
4 ’ * ¢ § 4 a4 < 4
44
s ’ ‘
< 4 @
- S 2 . 4 | —_—
” 4 <
5 ’ a ! 7 \ 5
4 <4 4 4 s
v as - SUSPENSION COMPONENT
“ & 120 x 40 x 6mm
[ | ° i — HDG STEEL "L"BRACKET [ |
4 |CONCRETE PANEL a4 9 [
< 4 “ SUSPENSION COMPONENT
—
. v .. ‘ WARM SIDE | [l/l M10 HDG HEXAGON NUT
4 a p ‘ — SUSPENSION COMPONENT
—
o a4, = 630 3mm THICK
T4 a7, g HDG STEEL WASHER
|| < < . /—///‘ —
4 p 4 v a 4 2 NON SKINNING MASTIC
; N < a . ( — APPLIED TO WARM SIDE
a aq , 4
a9 2 %gﬂg@%ﬂ
A < s M s o B ¥ B 1 ;j ’ . .
4 ea & o A : —
| 4 T4 < L e ; -
4 4 S : —
< < B e RN 3 : ;j
44 a e . : —
49 4 < L et ¢ -
’ 1 NI % o [askmnPANEL ]
44 2 s . : ‘, : ? 3
. . 4 G g
4 N - g
9 “ < 4 a < ;’ 2 9
- 1o =
. 4« 4 9 o L ?
& 2 P A
B N v ° SUSPENSION COMPONENT SUSPENSION COMPONENT | |
a4y . 16@ PVC CONDUIT SLEEVE 63@ 3mm THICK
J a ° 7 SUSPENSION COMPONENT HDG STEEL WASHER
10 10
WALL TO CEILING CONNECTION wiokos | — SUSPENSION COMPONENT
DETAIL - SECTION VIEW | 00 A [ AMBIENT | NYLON MUSHROOM HEAD
SCALE 1:2 } ‘ WITH M10 HDG NUT INSERT
A \ B \ C \ D E [ F G [ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:2
/’/ AsmN |PC A COP A ]30.01.2018 | FIXINGS REVISED Drawn By Sheetsize
- - R VORWERK A4
Performance Panels Issue date Revision
WALL TO CEILING 21.09.2015 A
i Drawing No.
wg\lwaaﬂglggﬁggsauWA P : 08 9249 4022 CONNECT|ON DETA”‘S
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP -513
NSW P:0247741255 NT P:0889473326 |/ ”p@g CERTIFICATION SCHEME




A B C D E F | G H
: AAA‘ 2< ‘)’A‘~ . A. . . 3 o M
PN Tt s SRR STRUCTURAL BEAM
1 CO‘NCEBE'I"E" S : A:‘ PR 4COI\ACARET'E B BYOTHERS |1
SIS R A ik SUSPENSION
|| Q} COMPONENT B
? 475mm@ 7x19
7 STEEL CORE
/) SUSPENSION SUSPENSION GALVANISED WIRE
2 . COMPONENT e ROPE WITH 2
g; M10 x 75 SCREW M10 x 75 SCREW BOLT SWAGGED LOOP AT
77
éé BOLT WITH EYE WITH EYE ONE END
7
- % SUSPENSION SUSPENSION -
' COMPONENT COMPONENT
f;.g- 475mm@ 7x19 475mm@ 7x19
3 g STEEL CORE ALVANISED STEEL CORE 3
g, WIRE ROPE WITH GALVANISED WIRE ROPE
4 SWAGGED LOOP AT ONE WITH SWAGGED LOOP
g END AT ONE END
— ’ STRUCTURAL ]
B BEAM
SUSPENSION BY OTHERS
COMPONENT
A ) 475mm@ 7x19 — — 4
SUSPENSION SUSPENSION % gEL\E/'AﬁgFE{E WIRE
w w | ROPE WITH I —SUSPENSION
[ M12 PURLIN BOLT M10 PURLIN COMPONENT
AND NUT BOLT AND NUT SWAGGED LOOP M10 UNIVERS
AT ONE END M10 UNIVERSAL
. BEAM CLAMP
5 Y 5
N
A ALTERNATIVE S~ ALTERNATIVE
|| /" SUSPENSION % SUSPENSION
§ CERTIFIED AT @ 7x19 CERTIFIED SUSPENSION
[n GALVANISED CHAIN S'TEEL"‘COREX GALVANISED CHAIN COMPONENT
6mm LINK ATTACHED GALVANISED WIRE 6mm LINK ATTACHED M10 HDG HEXAGON
6 TO PURLIN WITH M10 ROPE WITH TO PURLIN WITH M10 NUT 6
@ GALV BOLT AND NUT SWAGGED LOOP AT GALV BOLT AND NUT SUSPENSION
OTHER END BOLTED ONE END OTHER END BOLTED COMPONENT
TO "L" BRACKET TO"L"BRACKET M10 HDG
| THREADED ROD
NOTE
WHEN COOPING PURLINS, CAPACITY OF THE PURLINS
7 NEEDS TO BE SIGNED OFF BY STRUCTURAL ENGINEER 7
| GONGRETE | B . ¢ e B _C+ ' J[CONCRETE | . i . n
fA A - :A’A.A - ’AsA = 4 S ‘AA.A ‘A‘A'M~A
8 0 C : 8
500 MAX 500 MAX 7
% Y SUSPENSION COMPONENT
§§ g M10 x 75 SCREW BOLT WITH
|| g SUSPENSION COMPONENT g’ HEXAGON HEAD L]
gg M10 x 75 SCREW BOLT WITH EYE ?2 SUSPENSION COMPONENT
?é SUSPENSION COMPONENT ?é 120 x 40 x 6mm
9 22 4.75mm @ 7 x 19 STEEL CORE gg’ HDG STEEL "L" BRACKET 9
/] GALVANISED WIRE ROPE WITH Y
] SWAGGED LOOP AT ONE END 7 SUSPENSION COMPONENT
L L 4.75mm @ 7 x 19 STEEL CORE
|| ;’ g GALVANISED WIRE ROPE WITH ||
% 4 SWAGGED LOOP AT ONE END
4 %
’ e
%
10| ALTERNATIVE CEILING SUSPENSION g 10
]
CONNECTION DETAIL - SECTION VIEW
SCALE 15
A [ B [ C [ D E F G H
TITLE: Revision Checked By Scale
. A SHANNON 1:5
/’/ AS”N | P C A C O P A [30.01.2018 [NOTES ADDED Drawn By Sheet size
- - R VORWERK A4
performance Panels Issue date Revision
CEILING SUSPENSION 21.09.2015 A
www.askin.net.au Drawing No.
VIC P:0397063277 WA P: 0892494022 CONNECT|ON DETA”‘S
SA P:0882527188 QLD P:0737189500 [N e o IPCA COP - 600
NSW P:0247741255 NT P:088947 3326 ||p;i:—| CERTIFICATION SCHEME




A B C \ E F G H
| | 1
N [ N
SUSPENSION A— STRUCTURAL BEAM S 2
COMPONENT BY OTHERS |~ SUSPENSION COMPONENT
M10 UNIVERSAL UNI-STRUT BEAM CLAMP
BEAM CLAMP ASSEMBLY
— é iiiiiiiiiiii ;
SUSPENSION COMPONENT Jg -
- M10 HDG HEXAGON NUT —
SUSPENSION COMPONENT
M10 HDG THREADED ROD
4
] 7 SUSPENSION COMPONENT
/4.75mm @ 7x19 STEEL 5
CORE GALVANISED WIRE
ROPE WITH SWAGGED
| LOOP AT ONE END n
6
7777777777777777777 ,
SUSPENSION COMPONENT 8
4.75mm @ 7 x19 STEEL
CORE GALVANISED WIRE
ROPE WITH SWAGGED
- LOOP AT ONE END -
9
ALTERNATIVE CEILING SUSPENSION "
CONNECTION DETAIL - SECTION VIEW
SCALE 1:5
A [ B [ C [ E F G [ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:5
/’/ AsmN |P C A C OP A |30.01.2018 |NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Performance Panels Issue date Revision
CEILING SUSPENSION 21.09.2015 A
i Drawing No.
wy“é'%glggé?g'aum P : 08 9249 4022 CONNECTION DETAILS "
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP - 601
NSW P:0247741255 NT P:0889473326 |/ ”p@g CERTIFICATION SCHEME




A B C D E H
1 1
2 2
3 3
) GALVANISED CHAIN
[ 6mm LINK ATTACHED (]
TO PURLIN AND
g TURNBUCKLE WITH M10 SUSPENSION
GALV BOLT AND NUT COMPONENT
4 o e 475mm@ 7x19STEEL | |
HANGFAST NO. 4 CORE GALVANISED WIRE
' SUSPENSION ROPE WITH SWAGGED
- GRIPPLE HANGER COMPONENT LOOP AT BOTH ENDS -
M10 75mm '
SUSPENSION TURNBUCKLE
COMPONENT
5 M10 75mm 5
TURNBUCKLE SUSPENSION
COMPONENT
1 M10 75mm ]
TURNBUCKLE
6 6
8 ;E; 8
;gf
| el ||
9 9
10 ALTERNATIVE CEILING SUSPENSION 10
CONNECTION DETAIL - SECTION VIEW
SCALE 1:3
A \ B \ c \ D E \ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:3
/’/ AsmN |PC A COP A [30.01.2018 [NOTES REVISED Drawn By Sheet size
- - R VORWERK A4
Performance Panels Issue date Revision
CEILING SUSPENSION 21.09.2015 A
i Drawing No.
wgvml{’a(glggﬁggiauWA P : 08 9249 4022 CONNECT|ON DETA”‘S
SA P:0882527188 QLD P:0737189500 PP IPCA COP - 602

NSW P:0247741255 NT P:08 8947 3326

=
|| Q'&@ CERTIFICATION SCHEME




A B C D E F G H
1 1
2 2
AN
3 ~ 3
4 4
B | \ ) \ GALVANISED CHAIN N
6mm LINK ATTACHED
TO PURLIN AND |
5 U TURNBUCKLE WITH SUSPENSION 5
SUSPENSION M10 GALV BOLT AND COMPONENT
COMPONENT NUT 475mm@ 7x19 STEEL
|| HANGFAST NO. 4 CORE GALVANISED WIRE | | |
GRIPPLE HANGER ROPE WITH SWAGGED
\ \ \ LOOP AT BOTH ENDS.
6 == SUSPENSION = SUSPENSION = 6
| COMPONENT L/ COMPONENT 1/
120 x 40 x 6mm 0D 120 x 40 x 6mm g
HDG STEEL "L" = HDG STEEL "L" SUSPENSION
— BRACKET = BRACKET COMPONENT ]
= 120 x 40 x 6mm
= HDG STEEL "L"
= BRACKET
7
- ASKIN PANEL
8
9

10 ALTERNATIVE CEILING SUSPENSION 10
CONNECTION DETAIL - SECTION VIEW
SCALE 1:3
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
A SHANNON 1:3
/’/ |PC A COP A [30.01.2018 | DETAIL AND NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Issue date Revision
CEILING SUSPENSION 21.09.2015 A
el o CONNECTION DETAILS P
SK bieom i Olbp 07orios0 I IPCA COP - 603
NSW P:0247741255 NT P:088947 3326 p&@ CERTIFICATION SCHEME




WARM SIDE

S— S

<= [ASKNPANEL]

SUSPENSION COMPONENT
4.75mm @ 7 x 19 STEEL CORE
GALVANISED WIRE ROPE WITH
SWAGGED LOOP AT ONE END

SUSPENSION COMPONENT
HANGFAST NO. 4
GRIPPLE HANGER

SUSPENSION COMPONENT
120 x 40 x 6mm
HDG STEEL "L" BRACKET

SUSPENSION COMPONENT
M10 HDG HEXAGON NUT

SUSPENSION COMPONENT
63@ 3mm THICK
HDG STEEL WASHER

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

OPTIONAL WATER SEAL
POLYURETHANE
SEALANT

SUSPENSION COMPONENT
16@ PVC CONDUIT SLEEVE

SUSPENSION COMPONENT
M10 HDG THREADED ROD

SUSPENSION COMPONENT
63@ 3mm THICK
HDG STEEL WASHER

10 CEILING SUSPENSION CONNECTION
DETAIL - SECTION VIEW

SCALE 1:2

SN

SUSPENSION COMPONENT
NYLON MUSHROOM HEAD
WITH M10 HDG NUT INSERT

10

B \ c \

G \ H

TITLE:

W ASKIN IPCACOP

performance Panels  CEILING SUSPENSION
www.askin.net.au CONNECTION DETAILS

VIC P:0397063277 WA P:08 92494022 v
SA  P:0882527188 QLD P:07 37189500 ATEYra Pl

Y/ ]||chrf|

Rt (ERTIFICATION SCHEME

NSW P:0247741255 NT P:08 8947 3326

Revision

Checked By Scale
A SHANNON

1.2

Drawn By Sheet size

A 130.01.2018

NOTES REVISED

R VORWERK

A4

Issue date Revision

21.09.2015

A

Drawing No.

IPCA COP - 604




WARM SIDE

ASKIN PANEL

=S

CEILING SUSPENSION CONNECTION

DETAIL - SECTION VIEW
SCALE 1:3

SUSPENSION COMPONENT
4.75mm @ 7 x 19 STEEL CORE
GALVANISED WIRE ROPE WITH
SWAGGED LOOP AT ONE END

SUSPENSION COMPONENT
HANGFAST NO. 4
GRIPPLE HANGER

SUSPENSION COMPONENT
M10 75mm TURNBUCKLE

SUSPENSION COMPONENT
63@ 3mm THICK

HDG STEEL WASHER
VAPOUR SEAL

NON SKINNING MASTIC
APPLIED TO WARM SIDE
OPTIONAL WATER SEAL
POLYURETHANE SEALANT

SUSPENSION COMPONENT
16@ PVC CONDUIT SLEEVE

SUSPENSION COMPONENT
M10 HDG THREADED ROD

SUSPENSION COMPONENT
63@ 3mm THICK
HDG STEEL WASHER

SUSPENSION COMPONENT
NYLON MUSHROOM HEAD
WITH M10 HDG NUT INSERT

10

A \ B \ c \

E F G \

H

TITLE:

IPCA COP

CEILING SUSPENSION
CONNECTION DETAILS

0
PANEL
] || ?@@ (ERTIFICATION SCHEME

V'

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Revision

Checked By
A SHANNON

A |30.

Scale

1:3

08.2018 |NOTES REVISED Drawn By

R VORWERK

Sheet size

A4

Issue date

21.09.2015

Revision

A

Drawing No.

IPCA COP - 605




Z

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FOAM FILL

FLASHING

100 x 0.6mm
PRE-PAINTED STEEL
FLAT WITH V BEND

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

FOAM FILL

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FLASHING
40x40x0.6
PRE-PAINTED STEEL
"T" SECTION

OPTIONAL WATER SEAL

POLYURETHANE SEALANT

SCALE 1:2

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FOAM FILL

FLASHING
100 x 0.6mm
PRE-PAINTED
STEEL FLAT

OPTIONAL WATER SEAL
POLYURETHANE SEALANT

ALTERNATIVE PANEL TO PANEL END JOIN &
THERMAL CUT CONNECTION DETAIL - SECTION VIEW

L
o

THERMAL CUT

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FLASHING
40x40x0.6
PRE-PAINTED
STEEL "T" SECTION

OPTIONAL WATER SEAL
POLYURETHANE SEALANT
4

AN
R o \ N 8 .

FLASHING

70mm x 0.6mm
PRE-PAINTED STEEL
CUSTOM FLASHING
EXTRUSION

55mm x 1.0mm
GALVANISED STEEL
WATER SEAL

POLYURETHANE
SEALANT REQUIRED

(2]

10

\ c \

m

G \ H

V'

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

TITLE: Revision

Checked By
A SHANNON

Scale

1.2

A 130.01.2018

IPCA COP

FIXINGS & NOTES REVISED Sheet size

Drawn By

R VORWERK A4

Issue date Revision

CEILING SUSPENSION

21.09.2015 A

Drawing No.

IPCA COP - 606

CONNECTION DETAILS

0
PANEL
] || ?@@ (ERTIFICATION SCHEME




A B \ C D E F \ G \ H
1 1
SUSPENSION COMPONENT
M12 PURLIN BOLT AND NUT
| g? g? L
2 2
3 3
SUSPENSION COMPONENT
4 4.75mm @ 7 x19 STEEL 4
CORE GALVANISED WIRE
ROPE WITH SWAGGED
|| LOOP AT ONE END n
SUSPENSION COMPONENT
HANGFAST NO. 4 GRIPPLE
HANGER
5 5
VAPOUR SEAL 182%8; Egj f IEST:\‘mCOMPONENT
’\NA%ITS'(P:(IZ:;IIIDI;IJ(BE 5 HDG STEEL "L" BRACKET
[ | TO WARM SIDE SUSPENSION COMPONENT | |
FR FOAM WARM SIDE M10 HDG HEXAGON NUT
6 FILL GAP SUSPENSION COMPONENT 6
63@ 3mm THICK
75'69%'?6 HDG STEEL WASHER
PRE-PAINTED VAPOUR SEAL
— STEEL FLAT NON SKINNING MASTIC —
WATER SEAL [ [1; APPLIEDSTO WARM SIDE
WATER SEAL
POLYURETHANg POLYURETHANE SEALANT
7| SEALANT = 7
§ SUSPENSION COMPONENT
= 16@ PVC CONDUIT SLEEVE
8 8
ASKIN PANEL ASKIN PANEL |
9 = S \ ﬂ— 9
SUSPENSION COMPONENT
500 MAX
S00 MAX ! M10 HDG THREADED ROD
| 1000\MAX SUSPENSION COMPONENT [ |
63@ 3mm THICK
FLASHING FIXING HDG STEEL WASHER
CONNECTION DETAIL - SECTION VIEW e oy 200 CTRS NYLON MUSHROOM HEAD
SCALE 1:3 WITH M10 HDG NUT INSERT
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:3
/’/ AsmN | P C A C O P A [30.01.2018 | DETAIL & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Performance Panels Issue date Revision
CEILING SUSPENSION 21.09.2015 A
i Drawing No.
wy%-ao%lggéggg'aum P : 08 9249 4022 CONNECTION DETAILS
SA  P:0882527188 QLD P:0737189500  |OPZATEER puvet IPCA COP - 607
NSW P:0247741255 NT P:0889473326 [~ ||Q'£@ CERTIFICATION SCHEME




WARM SIDE

oo M o)
\ -
>

ANANNNNNRNY
-0

THERMAL CUT

= CUT PANEL SKIN

|

(——’_)\\‘
RS

T

SAARNNNNNN
22

[ ASKIN PANEL

—

SUSPENSION COMPONENT
M12 PURLIN BOLT AND NUT

SUSPENSION COMPONENT
4.75mm @ 7 x19 STEEL
CORE GALVANISED WIRE
ROPE WITH SWAGGED
LOOP AT ONE END

SUSPENSION COMPONENT
HANGFAST NO. 4 GRIPPLE
HANGER

SUSPENSION COMPONENT
120 x 40 x 6mm
HDG STEEL "L" BRACKET

SUSPENSION COMPONENT
M10 HDG HEXAGON NUT

SUSPENSION COMPONENT
63@ 3mm THICK
HDG STEEL WASHER

VAPOUR SEAL
NON SKINNING MASTIC 1
APPLIED TO WARM SIDE

WATER SEAL
POLYURETHANE SEALANT |7

SUSPENSION COMPONENT
16@ PVC CONDUIT SLEEVE

~

(2]

S

AW

XN

SUSPENSION COMPONENT

1 SO0 MAX \30‘ M10 HDG THREADED ROD
B 1 1000 MAX SUSPENSION COMPONENT
630 3mm THICK
HDG STEEL WASHER
FIXING FLASHING
1o CEILING THERMAL CUT PC SS4mmRIVETS 100X 0.6 SUSPENSION COMPONENT |10
CONNECTION DETAIL - SECTION VIEW AT 300 CTRS PRE-PAINTED STEEL NYLON MUSHROOM HEAD
SCALE 1:3 FLAT WITH V BEND WITH M10 HDG NUT INSERT
A \ B [ C [ D [ F [ [ H
TITLE: Revision Checked By Scale
. A SHANNON 13
/’/ AS”N |P C A C OP A [16.11.2016 | DETAIL ADDED Drawn By Sheet size
- | - R VORWERK Ad
Performance Panels r - Issue date Revision
CEILING SUSPENSION 21.09.2015 A
i Drawing No.
wg’“;at]glggﬁggsauWA P : 08 9249 4022 CONN ECTlON DETA' LS ;
SA  P:0882527188 QLD P:07 37189500 |PCA COP = 608

NSW P:0247741255 NT P:08 8947 3326

i
T, ..\
\/ ||Q'Qi:—| CERTIFICATION SCHEME




OPTIONAL WATER SEAL
POLYURETHANE
SEALANT

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FLASHING
100x 0.6
PRE-PAINTED
5 STEEL FLAT

N FR FOAM
2/ FILL GAP

(—E—)

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

S
Y

WARM SIDE

|

=

(_‘E’_\

RN

NNNNNN
2

7 ASKIN PANEL ASKIN PANEL 7
8 8
f 500 MAX
9 9
AMBIENT AMBIENT
10 CEILING SUSPENSION CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:3
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:3
/’/ AS”N |PC A COP A ]30.01.2018 | DETAIL AND NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Performance Panels Issue date Revision
CEILING SUSPENSION 21.09.2015 A
i Drawing No.
ml\l\l\é.:a[glggégg;.aum P : 08 9249 4022 CONNECTION DETAILS )
SA P:0882527188 QLD P:0737189500  NZREMPRRet euil IPCA COP - 609
NSW P:0247741255 NT P:0889473326 |/ ||Q'£@ CERTIFICATION SCHEME




—

N
\
LL

-
-y

| ASKIN PANEL |-

CONCEALED FIX CONNECTION

DETAIL - SECTION VIEW
SCALE 1:3

)

(R

(_—\_J

’\\(——’_)

STRUCTURAL BEAM
BY OTHERS

SUSPENSION
COMPONENT
M10 UNIVERSAL

BEAM CLAMP 2

SUSPENSION COMPONENT
M10 HDG HEXAGON NUT

SUSPENSION COMPONENT
M10 HDG
THREADED ROD

SUSPENSION COMPONENT
120 x 40 x 6mm
HDG STEEL "L" BRACKET

FIXING

3 x 500 SERIES
HEX HEAD
12x24x 38 4
CLASS 3 SCREW

CHANNEL
87 x 15x 2 x 600 LONG 1
STEEL HDG CHANNEL
VARIES WITH PANEL
THICKNESS

SUSPENSION COMPONENT
120 x 40 x 6mm
HDG STEEL "L" BRACKET

FIXING
3 x 500 SERIES 7
HEX HEAD 12 x 24 x 38
CLASS 3 SCREW

CHANNEL

87 x 15x 2 x 600 LONG
STEEL HDG CHANNEL
VARIES WITH PANEL
THICKNESS 8

ASKIN PANEL

600 MIN

10/ CEILING SUSPENSION CONNECTION

DETAIL - SECTION VIEW
SCALE 1:3

10

A \ B \ c \

G \ H

TITLE:

W ASKIN IPCACOP

performance Panels  GEILING SUSPENSION
CONNECTION DETAILS

i
T, ..\
\/ | || Q'&@ CERTIFICATION SCHEME

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Revision

Checked By Scale
A SHANNON 1:3

Drawn By Sheet size

R VORWERK A4

Issue date Revision

21.09.2015

Drawing No.

IPCA COP - 610




A B C D E F G H
1 1
2 SUSPENSION COMPONENT 2
475mm@ 7x19
STEEL CORE GALVANISED
[ | WIRE ROPE WITH SWAGGED n
LOOP AT ONE END
SUSPENSION COMPONENT
3 HANGFAST NO. 4 GRIPPLE 3
HANGER
4 4
STEEL PLATE
180 x 40 x 6mm
1 HDG STEEL PLATE —
FIXING
SERIES 500 HEX HEAD
5 12 x 24 x 38 CLASS 3 SCREW 5
CHANNEL
87 x 15 x 2 x 600 LONG STEEL HDG
CHANNEL VARIES WITH PANEL SUSPENSION COMPONENT
1 THICKNESS 475mm@ 7x19STEELCORE
GALVANISED WIRE ROPE WITH
SWAGGED LOOP AT ONE END
6 'VL‘ SUSPENSION COMPONENT 6
i HANGFAST NO. 4
S é GRIPPLE HANGER
ASKIN PANEL | 7
|| S é STEEL PLATE L]
g 180 x 40 x 6mm HDG STEEL PLATE
2
2 FIXING
7 é SERIES 500 HEX HEAD
@ 12 x 24 x 38 CLASS 3 SCREW
CHANNEL
CONCEALED FIX CONNECTION 87 x 15 x 2 x 600 LONG STEEL HDG
DETAIL - SECTION VIEW ?:Q';’;‘VEELS\S/AR'ES WITH PANEL
SCALE 1:3
8 8
; @ |
| s
o | |
& \ \
& ©
| |
! 600 MIN !
10 CONCEALED FIX CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:3
A \ B \ C D E F G \ H
TITLE: Revision Checked By Scale
™ A SHANNON 1:3
/’/ AsmN | PC A CO P A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Performance Panels Issue date Revision
CEILING SUSPENSION 21.09.2015 A
i Drawing No.
wglvvi.:a(glggéggg.aum P : 08 9249 4022 CONNECTION DETAILS
SA P:0882527188 QLD P:0737189500  ZAREMPRRat euil IPCA COP - 611
NSW P:0247741255 NT P:0889473326 |/ ”p@g CERTIFICATION SCHEME




A B C D E F G H
1 1
2 2
3 SUSPENSION COMPONENT 3
475mm @ 7x 19 STEEL CORE
GALVANISED WIRE ROPE WITH
SWAGGED LOOP AT ONE END
SUSPENSION COMPONENT
HANGFAST NO. 4
GRIPPLE HANGER
4 4
OPTIONAL WATER SEAL
FOOD GRADE SEALANT ’,7‘
7fgoEEz§L2TE oo REQUIRED TO WASH ’%‘1
— X xomm —
DOWN AREAS WARM SIDE 7
7
STEEL PLATE LASHING %
TEAOTE v
%’\IIEGS 500 100x 06 %
5 PRE-PAINTED STEEL 7 5
HEX HEAD FLAT 7
12x24x 38 /N 7
CLASS 3 SCREW 4 VAPOUR SEAL 4
—  CHANNEL () NON SKINNING MASTIC ]
87 x 15 x 2 x 600 LONG ’S‘IFE)PEL'ED TO WARM
STEEL HDG CHANNEL
6| VARIES WITH PANEL FR FOAM FILL GAP 6
THICKNESS \
‘ e ‘
I | @ | |
g \ \ \
7 Lz 7
2l
18 . |
e | | | -
— | | |
. / \ 5
| 600 MIN | | 600 MIN |
500 MAX / | 500 MAX }
— OPTIONAL WATER SEAL—/ FIXING FLASHING —
POLYURETHANE PC SS4mmRIVETS  40x40x 06
SEALANT AT 300 CTRS PRE-PAINTED STEEL "T"
9 SECTION 9
100 CONCEALED FIX CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:3
A [ B [ C [ D E F G [ H
TITLE: Revision Checked By Scale
A SHANNON 13
/’/ | P C A C O P A [30.01.2018 [ DETAIL AND NOTES REVISED Drawn By Sheetsize
- |- - R VORWERK Ad
- Issue date Revision
CEILING SUSPENSION 21.09.2015 A
i Drawing No.
wgv“{?’aﬂglggﬁgggauw}\ P : 08 9249 4022 CONNECT|ON DETA”'S
SA  P:0882527188 QLD P:07 37189500 4T @ PANEL |PCA COP = 61 2
NSW P:0247741255 NT P:088947 3326 ”|?£@ CERTIFICATION SCHEME




A B C D F G H
1 1
2 :_:H 2
SUSPENSION COMPONENT
/ M10 PURLIN BOLT AND NUT
3 SUSPENSION COMPONENT SUSPENSION COMPONENT 3
50 x 50 x 3mm 50 x 50 x 3mm
:DS STESE(L) LCE;RAC;ET = HDG STEEL "L" BRACKET
PENSION COMPONENT =
|| leo BURLIN BOLT AND NUT SUSPENSION COMPONENT ||
SUSPENSION COMPONENT = M10 HDG HEXAGON NUT
= SUSPENSION COMPONENT
M10 HDG HEXAGON NUT =
0HDG GONNU = 630 3mm THICK
4 SUSPENSION COMPONENT = HDG STEEL WASHER 4
630 3mm THICK L § VAPOUR SEAL -
HDG STEEL WASHER = NON SKINNING MASTIC
— VAPOUR SEAL = APPLIED TO WARM SIDE -
NON SKINNING MASTIC / L
APPLIED TO WARM SIDE I O
5 5
OPTIONAL WATER SEAL OPTIONAL WATER SEAL
POLYURETHANE POLYURETHANE
| SEALANT SEALANT ]
SUSPENSION COMPONENT SUSPENSION COMPONENT
168 PVC CONDUIT SLEEVE = 160 PVC CONDUIT SLEEVE
6 SUSPENSION COMPONENT = SUSPENSION COMPONENT 6
M10 HDG THREADED ROD \\\\\\\ M10 HDG THREADED ROD
'ASKIN PANEL |
< Maslu kel .
ST GIRT COMPONENT N LU LA
= 63@ 3mm THICK — GIRT COMPONENT
8 HDG STEEL WASHER 639 3mm THICK 8
GIRT COMPONENT HDG STEEL WASHER
NYLON MUSHROOM GIRT COMPONENT
B HEAD WITH M10 NYLON MUSHROOM HEAD |
HDG NUT INSERT WITH M10 HDG NUT INSERT
9 9
10 CEILING SUSPENSION CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:3
A \ B \ 9 \ D F G \ H
TITLE: Revision Checked By Scale
. A SHANNON 13
WASHKIN IPCACOP
R VORWERK Ad
Performan Panel Issue date Revision
riormance Fenels - CEILING SUSPENSION 21.09.2015
i Drawing No.
wy’“;at)glggﬁggsauWA P: 08 9249 4022 CONNECT|ON DETA”'S
SA  P:0882527188 QLD P:07 3718 9500 \/“ PR PANEL IPCA COP -613
NSW P:0247741255 NT P:0889473326 |||@'Q‘:| CERTIFICATION SCHEME




A B C \ D E F G H
1 1N STRUCTURAL STEEL PLATE 2 1
MEMBER BY OTHERS 50 x 50 x 4mm HDG STEEL PLATE
WELDED TO RHS
B SUSPENSION COMPONENT ]
M10 HDG THREADED ROD
2 - -~ 2
% SUSPENSION COMPONENT
| | M10 HDG HEXAGON NUT L]
STEEL ANGLE
150 x 50 x 4mm HDG STEEL ANGLE
777777 VARIES WITH PANEL THICKNESS
3 FIXING 3
SERIES 500
HEX HEAD
|| 12x24x38 ||
CLASS 3 SCREW
CHANNEL
4 37x15x 2 x600 LONG 4
STEEL HDG CHANNEL
\ \
vy |
| |
5 5
\ 600 MIN
I =1
|| /7 A |
CONCEALED FIX CONNECTION
DETAIL - SECTION VIEW
6] SCALE1:3 6
STEEL ANGLE
50 x 50 x 4mm HDG STEEL ANGLE
B WELDED TO RHS ]
SUSPENSION COMPONENT é
M10 NYLOCK ZINC WITH
7 FENDER WASHER 7
SUSPENSION COMPONENT
M10 HDG THREADED ROD Ngm /
SUSPENSION COMPONENT R STEEL PLATE
M10 HDG HEXAGON NUT 4 150 x 50 x 4mm HDG STEEL PLATE
8 SUSPENSION COMPONENT \,] VARIES WITH PANEL THICKNESS 8
WONYLOCKZNGWITH =k FIXING
FENDER WASHER SERIES 500
|| HEX HEAD ||
12x24 x 38
CLASS 3 SCREW
9 CHANNEL 9
37 x15x2x 600 LONG
STEEL HDG CHANNEL
1o CONCEALED FIX CONNECTION 10
DETAIL - SECTION VIEW
SCALE 1:3
A \ B [ C \ D E F G \ H
TITLE: Revision Checked By Scale
™ A SHANNON 15
/’/ AsmN | P C A C O P A |30.01.2018 |FIXINGS & NOTES REVISED Drawn By Sheetsize
- - R VORWERK A4
Performance Panels : Issue date Revision
CEILING SUSPENSION 21.09.2015 A
i Drawing No.
w(})N\Allaaﬂglggﬁ 2Ze7§.auWA P : 08 9249 4022 CON N ECTlON DETA' LS
SA  P:0882527188 QLD P:07 3718 9500 \/ﬁ e p IPCA COP -614
NSW P:0247741255 NT P:088947 3326 |p~.:c. CERTIFICATION SCHEME




A B C D £ F G A
1 1
2 2
OPTIONAL WATER SEAL OPTIONAL WATER SEAL
| | POLYURETHANE WARM SIDE POLYURETHANE -
SEALANT SEALANT
FIXING FIXING
5| PCSS4mmRIVETS PC SS 4mm RIVETS 3
AT 300 CTRS 1 AT 300 CTRS
VAPOUR SEAL VAPOUR SEAL
NON SKINNING MASTIC NON SKINNING MASTIC
- APPLIED TO WARM SIDE = APPLIED TO WARM SIDE [
FLASHING FLASHING
0.6mm PRE-PAINTED 0.6mm PRE-PAINTED
4| STEEL FLASHING STEEL FLASHING 4
VAPOUR SEAL STRUCTURAL VAPOUR SEAL
NON SKINNING MASTIC MEMBER BY OTHERS NON SKINNING MASTIC
| | APPLIED TO WARM SIDE APPLIED TO WARM SIDE
OPTIONAL WATER SEAL ; — OPTIONAL WATER SEAL
POLYURETHANE : | POLYURETHANE
5| SEALANT [ ASKINPANEL | paegegesecegese [ ASKINPANEL | SEALANT 5
FLASHING S Reatatatatatntnl =i FLASHING
40 x40 x 0.6mm 7/1/ 40 x40 x 0.6mm
PRE-PAINTED STEEL PRE-PAINTED STEEL
| ANGLE ANGLE ]
VAPOUR SEAL S T VAPOUR SEAL
NON SKINNING MASTIC [ ASKIN PANEL | "T"ASKIN PANEL / NON SKINNING MASTIC
6| APPLIED TO WARM SIDE : ; APPLIED TO WARM SIDE |6
OPTIONAL WATER SEAL—_ __——— OPTIONAL WATER SEAL
POLYURETHANE — POLYURETHANE
| | SEALANT SEALANT ||
ASKIN PANEL | 1 T ASKIN PANEL
7 Tl 7
\ \
| | FLASHING i A |
;% E g >|< l\?T?E i | | FOAM FILL VOID
- STRUCTURAL
STEEL ANGLE | | MEMBER BY OTHERS | | FLASHING
8 40x40x0.6 8
FIXING | | PRE-PAINTED
f\? 50304(;?{ ;{IVETS | \ STEEL ANGLE
| | FIXING
|| OPTIONAL WATER SEAL Ty -
FOOD GRADE SEALANT | \ S i(T; goso"'é”T”F‘{g'VETS
Eg%ﬂiiﬁg WASH | | OPTIONAL WATER SEAL
9 \ \ FOOD GRADE SEALANT |9
| | REQUIRED TO WASH
‘ J, ‘ DOWN AREAS
10 10
COOLROOM COLUMN BOXING CONNECTION DETAIL - SECTION VIEW
SCALE 15
A \ B \ c \ D E \ F G \ A
TITLE; Revision (:AhsgﬁdAirNON Scale ;
™ 5
/’/ AsmN | P C A C O P A |30.01.2018 |DETAIL & NOTES REVISED Drawn By Sheelsize
- - R VORWERK Ad
Performance Panels Issue date Revision
COLUMN BOXING 21.09.2015 A
i Drawing No.
wgvml{’a[glggﬁggiauWA P: 08 9249 4022 CONNECT|ON DETA”_S
SA  P:0882527188 QLD P:07 3718 9500 {] S\(E( PANEL |PCA COP - 61 5
NSW P:0247741255 NT P:088947 3326 ”|p~.::.c—| CERTIFICATION SCHEME




F G \ H

OPTIONAL
WATER SEAL

STRUCTURAL
MEMBER BY OTHERS

POLYURETHANE
SEALANT

FIXING

)4/7
PC SS 4mm RIVETS
\AT 300 CTRS
VAPOUR SEAL

NON SKINNING MASTIC
APPLIED TO WARM SIDE

FLASHING

0.6mm PRE-PAINTED

« STEEL FLASHING
| VAPOUR SEAL

NON SKINNING MASTIC
| \APPLIED TO WARM SIDE
OPTIONAL

WATER SEAL

ASKIN PANEL |«

ASKIN PANEL

FLASHING
40x40x0.6

PRE-PAINTED
STEEL ANGLE

9 FIXING
PC SS 4mm RIVETS
AT 300 CTRS

POLYURETHANE
SEALANT

| ——URETHANE FOAM
FILL VOID

: HEATER CABLE
| LowvoLtace
HEAT TRACE AND
TRANSFORMER.
BY BUILDERS
ELECTRICIAN.

FLASHING

40 x 40 x 0.6mm
PRE-PAINTED
STEEL ANGLE

VAPOUR SEAL
NON SKINNING MASTIC
APPLIED TO WARM SIDE

OPTIONAL
WATER SEAL
POLYURETHANE
SEALANT

FLASHING
40x40x0.6

PRE-PAINTED
STEEL ANGLE

FIXING
PC SS 4mm RIVETS
AT 300 CTRS

FREEZER

10

SCALE 1:5

FREEZER COLUMN BOXING CONNECTION DETAIL - SECTION VIEW

10

A \ B \ c

\ F G \ H

TITLE:

W ASKIN IPCACOP

Performance Panels — ~) | J\IN BOXING

www.askin.net.au

VIC P:0397063277 WA P: 0892494022
SA  P:0882527188 QLD P:07 37189500
NSW P:0247741255 NT P:088947 3326

Fo
\\/ | || I?)'QQ CEATONION SO

CONNECTION DETAILS

Revision

Checked By Scale
A SHANNON

A ]30.01.2018 | DETAIL ADDED

Drawn By Sheet size

R VORWERK

A4

Issue date Revision

30.01.2018

Drawing No.

IPCA COP - 616




ASKIN

FREE CALL 13000 ASKIN
Email: contact@askin.net.au
www.askin.net.au

ASKIN GROUP
150 Albert Road

South Melbourne, VIC, 3205

Phone: +61 3 8769 4816

Email: contact@askin.net.au

VICTORIA & TASMANIA

270 - 280 Hammond Road

Dandenong South, VIC, 3175

Phone: +61 3 8769 4888
Email: vic@askin.net.au

WESTERN AUSTRALIA
1 Denninup Way

Malaga, WA, 6090

Phone: +61 8 9249 4022

Email: wa@askin.net.au

SA & NT

162a Philip Hwy
Elizabeth South, SA, 5112
Phone: +61 8 8252 7188
Email: sa@askin.net.au

QUEENSLAND
129 Cobalt Street
Carole Park, QLD 4300
Phone: +617 3718 9500
Email: gld@askin.net.au

NSW & ACT

100 Peter Brock Drive
Eastern Creek, NSW, 2766
Phone: +61 2 8825 2598
Email: nsw@askin.net.au



	Sheets and Views
	ASKIN_IPCA COP-General Notes
	ASKIN_IPCA COP-IPCA - 000
	ASKIN_IPCA COP-IPCA - 100
	ASKIN_IPCA COP-IPCA - 101
	ASKIN_IPCA COP-IPCA - 102
	ASKIN_IPCA COP-IPCA - 200
	ASKIN_IPCA COP-IPCA - 201
	ASKIN_IPCA COP-IPCA - 202
	ASKIN_IPCA COP-IPCA - 203
	ASKIN_IPCA COP-IPCA - 204
	ASKIN_IPCA COP-IPCA - 205
	ASKIN_IPCA COP-IPCA - 206
	ASKIN_IPCA COP-IPCA - 207
	ASKIN_IPCA COP-IPCA - 208
	ASKIN_IPCA COP-IPCA - 209
	ASKIN_IPCA COP-IPCA - 210
	ASKIN_IPCA COP-IPCA - 211
	ASKIN_IPCA COP-IPCA - 212
	ASKIN_IPCA COP-IPCA -213
	ASKIN_IPCA COP-IPCA -214
	ASKIN_IPCA COP-IPCA -215
	ASKIN_IPCA COP-IPCA -216
	ASKIN_IPCA COP-IPCA -217
	ASKIN_IPCA COP-IPCA -218
	ASKIN_IPCA COP-IPCA - 300
	ASKIN_IPCA COP-IPCA - 301
	ASKIN_IPCA COP-IPCA - 302
	ASKIN_IPCA COP-IPCA - 303
	ASKIN_IPCA COP-IPCA - 304
	ASKIN_IPCA COP-IPCA - 305
	ASKIN_IPCA COP-IPCA - 306
	ASKIN_IPCA COP-IPCA - 307
	ASKIN_IPCA COP-IPCA - 308
	ASKIN_IPCA COP-IPCA - 309
	ASKIN_IPCA COP-IPCA - 400
	ASKIN_IPCA COP-IPCA - 401
	ASKIN_IPCA COP-IPCA - 402
	ASKIN_IPCA COP-IPCA - 403
	ASKIN_IPCA COP-IPCA - 404
	ASKIN_IPCA COP-IPCA - 405
	ASKIN_IPCA COP-IPCA - 406
	ASKIN_IPCA COP-IPCA - 407
	ASKIN_IPCA COP-IPCA - 408
	ASKIN_IPCA COP-IPCA - 409
	ASKIN_IPCA COP-IPCA - 410
	ASKIN_IPCA COP-IPCA - 500
	ASKIN_IPCA COP-IPCA - 501
	ASKIN_IPCA COP-IPCA - 502
	ASKIN_IPCA COP-IPCA - 503
	ASKIN_IPCA COP-IPCA - 504
	ASKIN_IPCA COP-IPCA - 505
	ASKIN_IPCA COP-IPCA - 506
	ASKIN_IPCA COP-IPCA - 507
	ASKIN_IPCA COP-IPCA - 508
	ASKIN_IPCA COP-IPCA - 509
	ASKIN_IPCA COP-IPCA - 510
	ASKIN_IPCA COP-IPCA - 511
	ASKIN_IPCA COP-IPCA - 512
	ASKIN_IPCA COP-IPCA - 513
	ASKIN_IPCA COP-IPCA - 600
	ASKIN_IPCA COP-IPCA - 601
	ASKIN_IPCA COP-IPCA - 602
	ASKIN_IPCA COP-IPCA - 603
	ASKIN_IPCA COP-IPCA - 604
	ASKIN_IPCA COP-IPCA - 605
	ASKIN_IPCA COP-IPCA - 606
	ASKIN_IPCA COP-IPCA - 607
	ASKIN_IPCA COP-IPCA - 608
	ASKIN_IPCA COP-IPCA - 609
	ASKIN_IPCA COP-IPCA - 610
	ASKIN_IPCA COP-IPCA - 611
	ASKIN_IPCA COP-IPCA - 612
	ASKIN_IPCA COP-IPCA - 613
	ASKIN_IPCA COP-IPCA - 614
	ASKIN_IPCA COP-IPCA - 615
	ASKIN_IPCA COP-IPCA - 616


